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Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 42
Number of Questions to be attempted : 42

Section Marks : 100
Display Number Panel : Yes

Group All Questions : Yes

Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 210529287
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 2105297631 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A teacher uses a question-answer session to ensure desired learning outcomes in his/her
classroom. In this process, he/she offers the following type of comment to a few answers given

by a student:
“Yes, you are right, good'
This will be considered as an example of

1. Positive feedback

2. Negative feedback

3. Confirmatory feedback
4, Carrective feedback

Options :

21052930001. 1
21052930002. 2
21052930003. 3
21052930004. 4

Question Number : 1 Question Id : 2105297631 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930001. 1
21052930002. 2
21052930003. 3
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Question Number : 2 Question Id : 2105297632 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In the cognitive domain of teaching-learning objectives, which will be categorized as a higher

type of learning outcomes?

A. Knowledge and comprehension

B. Analysis of conceptual elements

C. Application of acquired knowledge and skills

D. Synthesis involving the creative organization of ideas

E. Evaluation involving judgment using internal or external standards
Choose the correct answer from the options given below:

1. A B and C only
2.B,Cand D only
3.C, D and E only
4.B, D and E only

Options :

21052930005. 1
21052930006. 2
21052930007. 3
21052930008. 4

Question Number : 2 Question Id : 2105297632 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930005. 1
21052930006. 2
21052930007. 3
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Question Number : 3 Question Id : 2105297633 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I: Maximum performance tests are designed to assess the upper limits of the

examinees’ knowledge and ability

Statement Il: Typical response tests are designed to measure specific behaviours and

characteristics of examinees

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement |l are true

2. Both Statement | and Statement || are false

3. Statement | is correct but Statement |l is false
4, Statement | is incorrect but Statement Il is true

Options:

210529300009. 1
21052930010. 2
21052930011. 3

21052930012. 4

Question Number : 3 Question Id : 2105297633 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052930009. 1

21052930010. 2



21052930011. 3
21052930012. 4

Question Number : 4 Question Id : 2105297634 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | List 1l

Behavioural teaching competencies Description

, . Optimizing 'on task’ and minimizing 'off task’
A. Instructing it
activities

SR ot IIl. Watching groups, behaviours and pace etc.
el and reacting quickly

— lll. Using methods and activities by the teacher
. Managin _
N3 to promote learning

s IV. Transmitting thoughts and ideas verbally and
. Monitorin
2 non-verbally

Choose the correct answer from the options given below:

T.A-1LB-ILC-IILD-IV
ZA-IVB-NL,C-1,D-1I
JA-ILB-IV,C-L,D-
4A-ILB-L,C-1V,D-1l

Options :

21052930013. 1
21052930014. 2
21052930015. 3

21052930016. 4

Question Number : 4 Question Id : 2105297634 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

21052930013. 1
21052930014. 2
21052930015. 3

21052930016. 4

Question Number : 5 Question Id : 2105297635 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Evaluation is said to be formative when the intention is to identify scope and
potential for improvement of teaching-learning system

Reason R: The form of such evaluation is informal and has to take place during
instruction/teaching

In light of the above statements, choose the correct answer from the opticns given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true



Options :

21052930017. 1
21052930018. 2
21052930019. 3
21052930020. 4

Question Number : 5 Question Id : 2105297635 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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21052930017. 1
21052930018. 2
21052930019. 3

21052930020. 4

Question Number : 6 Question Id : 2105297636 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In which research method manipulation of ‘independent variable’ and control of ‘extraneous
variables' are neither possible nor desirable?

1. Experimental method

2. Ex post facto method

3. Historical method

4. Descriptive survey method

Options :

21052930021. 1
21052930022. 2
21052930023. 3

21052930024. 4

Question Number : 6 Question Id : 2105297636 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
01 B o a1 F RIS =R § §-UR 01 976 <RI &1 (9801 7 o 94 § 3R 7 die-id 2

1. WORTE® fafy

2. PRIRR &3l

3. Ui fafd

4. JUHTES Faam Ay

Options :

21052930021. 1
21052930022. 2
21052930023. 3

21052930024. 4

Question Number : 7 Question Id : 2105297637 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify those statements which describe the characteristic features of qualitative research

paradigm

A. Researchers tend to analyze their data inductively

B. The substantive research hypothesis is tested via Null hypothesis
C. Data take the form of words or pictures

D. Actual settings are the direct source of data

E. It assumes that there are social facts with a single objective reality
Choose the correct answer from the options given below:

1. A B and C only
2. A B and E only
3.B, Cand E only
4. A, Cand D only

Options :

21052930025. 1
21052930026. 2
21052930027. 3

21052930028. 4

Question Number : 7 Question Id : 2105297637 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930025. 1
21052930026. 2
21052930027. 3

21052930028. 4

Question Number : 8 Question Id : 2105297638 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In quantitative research paradigm which of the following sampling methods are given

preference?

A. Simple random sampling

B. Stratified sampling

C. Quota sampling

D. Snowball sampling

E. Systematic sampling

Choose the correct answer from the options given below:

1. A B and C only
2. A B and E only
3.B,Cand D only
4.C,Dand E only

Options :

21052930029. 1
21052930030. 2
21052930031. 3

21052930032. 4

Question Number : 8 Question Id : 2105297638 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930029. 1
21052930030. 2
21052930031. 3

21052930032. 4

Question Number : 9 Question Id : 2105297639 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List I with List Il

List | List Il

Research concepts Description

| It is statistical test that does not make

A. Hypothesis ,
assumptions about the parameters

II. Device using which data are collected in
B. Sample

research
C. Research tool lll. A subset drawn from a larger set to represent it
D. Non-parametric tests IVV. A tentative statement indicating relationship

between two or more than two variables

Choose the correct answer from the options given below:

TA-IV,B-NLC-1,D-1
ZA-LB-1LC-LD-V
3A-ILB-1LC-IV,D-1l
4 A-I,B-IV,C-1,D-1

Options :

21052930033. 1
21052930034. 2
21052930035. 3
21052930036. 4

Question Number : 9 Question Id : 2105297639 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

21052930033. 1
21052930034. 2
21052930035. 3

21052930036. 4

Question Number : 10 Question Id : 2105297640 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: A cross break is a numerical tabular presentation of data usually in frequency or
percentage form in which variables are cross-partitioned to study relations between them
Reason R: The categories are set up according to the research hypothesis

In light of the above statements, choose the most appropriate answer from the options

given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options:

21052930037. 1
21052930038. 2
21052930039. 3

21052930040. 4

Question Number : 10 Question Id : 2105297640 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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21052930039. 3
21052930040. 4

Sub-Section Number : 2
Sub-Section Id : 210529288
Question Shuffling Allowed : Yes

Question Id : 2105297641 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (11 to 15)

Question Label : Comprehension



Read the given passage carefully and answer the questions that follow

Much is still unknown about human behavior. Unanswered questions remain and further
research is necessary. Knowledge about motivation, leader behavior, and change will continue
to be of great concern to practitioners of management for several reasons: It can help improve
the effective leadership of human resources; it can help in preventing resistance to change,
restriction to output, and personnel disputes; and often it can lead to a more productive
organization. Our intention has been to provide a conceptual framework that may be useful to
you in applying the conclusions of the behavior sciences. The value that a framework of this
kind has is not in changing one's knowledge, but in changing one's behavior in working with
people.

We have discussed three basic competencies in influencing: diagnosing - being able to
understand and interpret the situation you are attempting to influence; adapting - being able
to adapt your behavior and the resources you control to the contingencies of the situation;
and communicating - being able to put the message in such a way that people can easily
understand and accept it. Each of these competencies is different and requires a different
developmental approach. For example, diagnosing is cognitive or of the mind in nature and
requires thinking skills; adapting is behavioral in nature and requires behavioral practice; and
communicating is process-criented and requires learning and interrelating the key steps in the
process. Because these three competencies require different knowledge and skills, how do we
continue the process that we started with.

The key to starting the process of changing behavior is sharing what you have learned with
other people in your own organization. Two things occur when people who work together all
have a common language. First, they are able to give each other feedback and help in a very
rational, unemotional way that effects behavior.

Second, when followers start to realize that if their manager is using situational leadership, it is
not the manager, but their behavior, that determines the leadership style to be used with
them.

Sub questions

Question Number : 11 Question Id : 2105297642 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following prohibits resistance to change?

1. Knowledge of leader behaviour
2. Removing restriction on output
3. Personnel disputes

4. Non-productive organisation

Options :

21052930041. 1
21052930042. 2
21052930043. 3

21052930044. 4

Question Number : 12 Question Id : 2105297643 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the value outcome of applying a theoretical framework of behavioral science?

1. Changes in one’s own knowledge

2. Change in one's behavior while working with others
3. Not understandable human behaviour

4. Emergence of value-loaded framewok

Options :

21052930045. 1
21052930046. 2
21052930047. 3

21052930048. 4

Question Number : 13 Question Id : 2105297644 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Each of the basic competencies needs

1. Exclusivity

2. Situational contingency

3. Inter-relation with others

4. A different approach in acquiring it

Options :

21052930049. 1
21052930050. 2
21052930051. 3

21052930052. 4

Question Number : 14 Question Id : 2105297645 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What prompts a change in a person's behaviour?

1. Leadership style

2. Situational support to the managers

3. Sharing of learning outcomes with others in the organization
4. Segregation of competencies

Options :

21052930053. 1
21052930054. 2
21052930055. 3

21052930056. 4

Question Number : 15 Question Id : 2105297646 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The inferences that can be drawn from the passage are

A. Common language among people in an organization will ensure unbiased feedback
B. People are known for fluctuating behaviour

C. People’s behaviour influences the leader

D. Emotions and human behaviour are separate and easily explicable

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. Cand D only
4. A and Conly

Options :

21052930057. 1
21052930058. 2
21052930059. 3

21052930060. 4

Question Id : 2105297641 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (11 to 15)

Question Label : Comprehension
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Sub questions

Question Number : 11 Question Id : 2105297642 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930041. 1
21052930042. 2
21052930043. 3

21052930044. 4

Question Number : 12 Question Id : 2105297643 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930045. 1
21052930046. 2
21052930047. 3

21052930048. 4

Question Number : 13 Question Id : 2105297644 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930049. 1
21052930050. 2
21052930051. 3
21052930052. 4

Question Number : 14 Question Id : 2105297645 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930053. 1
21052930054. 2
21052930055. 3

21052930056. 4

Question Number : 15 Question Id : 2105297646 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



e °§ 94T e e g ¢
A. TiTe H Ud 9o 9T aic] arll O U&UTd Jed Bisdd M

B. TNl & o4deR H URda- gidl &dl &

C. TNl @1 SdeR Hg dI WHIfdd Bl &

D. HIGTE 31 A3 TTeR STH1-3T & 3113 390 caRedl 39H! | &1 ofl 9@dl &
To! fa®ed &1 904 @y ;

1. Had A 3R B
2. HaAB AR C
3. HAAC IR D
4. HAAA R C

Options :

21052930057. 1
21052930058. 2
21052930059. 3

21052930060. 4

Sub-Section Number : 3
Sub-Section Id : 210529289
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 2105297647 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

When communication meets the aims and objectives of classroom teaching, it becomes

1. Extra-ordinary
2. Personal

3. Functional

4. Obligatory

Options :

21052930061. 1
21052930062. 2
21052930063. 3



21052930064. 4

Question Number : 16 Question Id : 2105297647 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
o YUWUT HaIFTd T80 & I3l Bl G & &dl & o Je -

1. AGURM §I Il &
2. JOldds sl ol &
3. PATED ol odl &

Options :

21052930061. 1
21052930062. 2
21052930063. 3

21052930064. 4

Question Number : 17 Question Id : 2105297648 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following can be considered as psychological barriers to effective
communication?

A. Descriptive message

B. Inattentiveness

C. Too much reliance on the written word

D. Limited retention

E. Logical organization

F. Flow of thought

Choose the correct answer from the options given below:

1. A B and C only
2.B,Cand D only
3.C, D and E only
4.D, Eand F only

Options :

21052930065. 1
21052930066. 2
21052930067. 3

21052930068. 4

Question Number : 17 Question Id : 2105297648 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeiad # € gHIdl §unT & [ fod A-aeiHe Sy ol o §odl ¢ ?
A. TOHIED Jox

B. SUH-EDI

c. foRad 2l W aif¥e R

D. Hiffd ufauRor

E. Tlihed oqa=ITT

F. f[arf &1 uae

eI [dhey &l 9g &

1. HadA A, B3R C
2. HaaB, C3RD
3. ®aAC, D 3ARE
4. HaAD, E3ARF

Options:

21052930065. 1
21052930066. 2
21052930067. 3

21052930068. 4

Question Number : 18 Question Id : 2105297649 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Human touch in communication enables students to become participatory
Reason R: In a technology-driven classroom environment, the communicative role of a teacher
is secondary

In light of the above statements, choose the correct answer from the opticns given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true



Options :

21052930069. 1
21052930070. 2
21052930071. 3
21052930072. 4

Question Number : 18 Question Id : 2105297649 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e & HY fRT MU § - Ugah Sifiiaed (A) R G0 (R) B

HiTHYA () Guun § AHdE ug [enfdal & ggyrl a9 B |
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Sude Bl & s & Fgifed o 3§ Gaiie SUgH TR E -

1. (A) 31X (R) GHT T8I 8 1R (R), (A) BT T A B

. (A) 3R (R) GFI W1 € 3R (R), (A) BT Tel SRS 0 &
(A) F&l & U (R) 7TeTd

. (A) TTEd & TR (R) Hel o

Options:

da L o

21052930069. 1
21052930070. 2
21052930071. 3

21052930072. 4

Question Number : 19 Question Id : 2105297650 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List 1 with List 1l

List | List 11

Type of communication Characteristics

A. Vertical . Feedback oriented
B. Horizontal II. Inter-personal

C. Circular . Top-down

D. Transactional IV. Rumour-oriented

Choose the correct answer from the options given below:

TA-LB-ILC-IILD-IV
2ZA-ILB-ULC-IV,D-|
SA-IILB-V,C-1,D-1I
4 A-IV,B-I,C-1,D- 1l

Options:

21052930073. 1
21052930074. 2
21052930075. 3
21052930076. 4

Question Number : 19 Question Id : 2105297650 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Gail-1 AR Gdi-11 T YT DY -

g1 -1l

U0 & UHR fa=iwan

A, iy 1. AT Widgd (Bled®)
B. &fds I1. 3R - dufda®

C. gulg . FR Y A

D. fepari-afdue Iv. HHGTUET 3wdre
fafaiad 9ol © § 981 3T @1 904 & ;

TA-LB-ILC-IILD-IV
ZA-ILB-HULC-IV,D-I|
3A-IILB-V,C-1,D-1
4 A-IV,B-I,C-1I,D- 1l



Options :

21052930073. 1
21052930074. 2
21052930075. 3
21052930076. 4

Question Number : 20 Question Id : 2105297651 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement I: Persuasive communication by a teacher in the classroom is intended to make
his/her version of information acceptable to students

Statement Il: If it happens at the institutional level, the purpose behind it is image building

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement |l is false
4, Statement | is false but Statement Il is true

Options:

21052930077. 1
21052930078. 2
21052930079. 3

21052930080. 4

Question Number : 20 Question Id : 2105297651 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 0% | 3R 11 GF T8l g
2. T | AR 1| &H TTad B
3. Y- Tgl b, fobwg HYH-1 TTeid B
4, PYH-1 7T €, fdow HYA-11 TSI 2

Options :

21052930077. 1
21052930078. 2
21052930079. 3

21052930080. 4

Question Number : 21 Question Id : 2105297652 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A man is 30 years older than his son. Five years ago, his age was 6 times the age of his son.

The age of the son is

1.10 years
2. 11 years
3. 12 years
4,15 years

Options :

21052930081. 1
21052930082. 2
21052930083. 3

21052930084. 4

Question Number : 21 Question Id : 2105297652 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No



Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T A 1 1 A A 1 o 30 o 31 e o e, 3 g o T g
GW%?“ qa{ﬁ&rrqﬁa—ﬁ%’“

1.10 T4
2119
31299
41539

Options :

21052930081. 1
21052930082. 2
21052930083. 3

21052930084. 4

Question Number : 22 Question Id : 2105297653 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the next term in the following series?

4,12, 28, 52,

76
24
98
104

e

o b Pl

Options:

21052930085. 1
21052930086. 2
21052930087. 3
21052930088. 4

Question Number : 22 Question Id : 2105297653 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
fFgifed saan & srTel g e gt ¢

4,12, 28, 52

76
24
98
104

e}

b DY

Options :

21052930085. 1
21052930086. 2
21052930087. 3

21052930088. 4

Question Number : 23 Question Id : 2105297654 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A motorist travels to a place 150km away at an average speed of 50km/hour and returns at a
speed of 30km/hour. His average speed for the whole journey is

1. 35 km/hour
2. 37.5 km/hour
3. 40 km/hour
4 425 km/hour

Options :

21052930089. 1
21052930090. 2
21052930091. 3
21052930092. 4

Question Number : 23 Question Id : 2105297654 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 35 Tdeit / gt
2. 37.5 Todil / YeT
3. 40 fbHt / Her
4, 42 5 fobHt / der

Options :

21052930089. 1
21052930090. 2
21052930091. 3
21052930092. 4

Question Number : 24 Question Id : 2105297655 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A sum of money earning compound interest annually doubles itself after 4 years. What is the
rate of interest?

2

—d
[ B o = T s -
b -~ -
0o 0o 0o 0o

1.

35
553
s

—

Options :

21052930093. 1
21052930094. 2
21052930095. 3
21052930096. 4

Question Number : 24 Question Id : 2105297655 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i3 8 AR forg W aiftics ¥4 U IhdfS oF1el o1l &, 4 a9 & U g1 &1 ol 6| o7 1

1.~14 %
2. ~19%
3.~18%
4 ~15%
Options :

21052930093. 1
21052930094. 2
21052930095. 3

21052930096. 4

Question Number : 25 Question Id : 2105297656 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the following letter series, the next term is
bdf, eqgi, hjl,

1. kmo
2. jmp
3. ilo

4, kno

Options :

21052930097. 1
21052930098. 2
21052930099. 3
21052930100. 4

Question Number : 25 Question Id : 2105297656 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fyoiftra 2o 9@am &, 3FTem UG @41 BHM
bdf, eqi, hjl, __

1. kmo
2. jmp
3. ilo

4 kno

Options :

21052930097. 1
21052930098. 2
21052930099. 3

21052930100. 4

Question Number : 26 Question Id : 2105297657 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement I: All knowledge is a recollection. It is true on a certain account

Statement lI: All men by nature, desire understanding

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true

Options :

21052930101. 1
21052930102. 2
21052930103.3

21052930104. 4

Question Number : 26 Question Id : 2105297657 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

B IE A AR AR
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Options :

21052930101. 1
21052930102. 2
21052930103. 3

21052930104. 4

Question Number : 27 Question Id : 2105297658 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement I: When | look deep into myself, | always stumble with one perception or another. |
can never catch myself

Statement Il: Self is the logical presupposition of all knowledge. Therefore, the concepts like
substance and person can not be applied to it.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement || are false
3. Statement | is true but Statement |l is false
4 Statement | is false but Statement Il is true

Options :



21052930105. 1
21052930106. 2
21052930107. 3
21052930108. 4

Question Number : 27 Question Id : 2105297658 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. ®Y | IR || GH Ge1 &1
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4, BY-| G &, g HY-1 TEI B

Options :

21052930105. 1
21052930106. 2
21052930107. 3

21052930108. 4

Question Number : 28 Question Id : 2105297659 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I: Different communities exist independent of one another but jointly somehow

they give an idea of communitarian life of a society

Statement |I: Earth exists either through a blind chance or through an inner necessity or

through an external cause

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement || are false
3. Statement | is true but Statement |l is false
4, Statement | is false but Statement Il is true

Options:

210529301009. 1
21052930110. 2
21052930111.3

21052930112. 4

Question Number : 28 Question Id : 2105297659 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930109. 1



21052930110. 2
21052930111. 3

21052930112. 4

Question Number : 29 Question Id : 2105297660 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match List 1 with List 11

List | List 11
(Concepts) (5chools)

A. Mirvana . Sankhya

B. Nihshreyasa Il. Jainism

C. Apavarga 1. Upanishads
D. Moksha V. Buddhism

Choose the correct answer from the options given below:

T.A-IV,B-I,C-1l,D-1
ZA-1,B-ILC-IV,D-llI
JA-ILB-LC-IILD- W
4A-IILB-IV,C-1I,D-1|

Options :

21052930113. 1
21052930114. 2
21052930115.3
21052930116. 4

Question Number : 29 Question Id : 2105297660 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-IV,B-LC-II,D-|
2ZA-,B-ILC-1V,D-1l
SA-ILB-LC-IILD- IV
4 A-1ILB-IV,C-1I,D-|

Options:

21052930113. 1
21052930114. 2
21052930115. 3
21052930116. 4

Question Number : 30 Question Id : 2105297661 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Deduction proceeds from

1. Particular to universal
2. Universal to particular
3. Particular to particular
4. Universal to universal

Options :

21052930117. 1
21052930118. 2
21052930119. 3

21052930120. 4



Question Number : 30 Question Id : 2105297661 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
AT e Ug Bi & -

1. 329 G grdyig 31 3R
2. gra19 ¥ 339 &1 3R
3. f92y U faiy &1 3}

4, GIEHH § GrEyH &1 3R
Options :

21052930117. 1
21052930118. 2
21052930119. 3

21052930120. 4

Sub-Section Number : 4
Sub-Section Id : 210529290
Question Shuffling Allowed : Yes

Question Id : 2105297662 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (31 to 35)

Question Label : Comprehension

Study the data given in the table and answer the questions that follow

The following table shows the monthly reporting of patients for different diseases to three
hospitals in a city

Disease/Hospital Hospital A | Hospital B | Hospital C
Heart Attack 320 240 360
Blood Sugar 650 1350 1950

Blood Pressure 700 1400 2100

Kidney Problems 210 420 630




Sub questions

Question Number : 31 Question Id : 2105297663 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the percentage of number of patients reporting for blood sugar compared to the total
patients in all three hospitals?

1.~ 25.90 %
2.~ 38.24 %
3.~ 3942 %
4 ~3512%
Options :

21052930121. 1
21052930122. 2
21052930123. 3
21052930124. 4

Question Number : 32 Question Id : 2105297664 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the average number of patients for the least reported disease?

1. ~ 415.2
2 ~ 3254
3.~ 391.7
4, ~ 306.6
Options :

21052930125. 1
21052930126. 2
21052930127. 3
21052930128. 4



Question Number : 33 Question Id : 2105297665 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the percentage increase in the number of patients reporting heart attacks from
hospital A to hospital C?

1.125%
2.13.2 %
3.11.9 %
492%

Options :

21052930129. 1
21052930130. 2
21052930131.3

21052930132. 4

Question Number : 34 Question Id : 2105297666 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

For patients reporting for kidney problems, what is the ratio of the number of patients
reporting at hospital A and those reporting at hospital C?

123
2.34
313
415

Options:

21052930133. 1
21052930134. 2
21052930135.3
21052930136. 4

Question Number : 35 Question Id : 2105297667 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the percentage increase in the total number of patients from hospital A to

hospital C?
1.~120 %
2.~ 168 %
3.~ 141 %
4 ~ 145 %
Options :

21052930137.1
21052930138. 2
21052930139. 3

21052930140. 4

Question Id : 2105297662 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (31 to 35)
Question Label : Comprehension

forifera aferet & foredt wer & 9 aremare & Pm-fi T & 3 3t wfte SHeRt
TNt TS &1 AifereT & U T Sl F MR W AN $IWE:

3T/ ST AT (B) | SRUdE (@) | S ()
EARIEIG| 320 240 360
BEHH 650 1350 1950
e 700 1400 2100
el Faet 3 210 420 630

Sub questions

Question Number : 31 Question Id : 2105297663 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
Gl i regaral § oo AT o o H gyHe 9 Uifsd ARl o 9 &1 ufard fba 82

1.~ 25.90 %
2.~ 38.24 %
3.~3942%
4 ~3512%
Options :

21052930121.1
21052930122. 2
21052930123. 3
21052930124. 4

Question Number : 32 Question Id : 2105297664 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
a9 & giad W & AR B i ed T fvdHl g 2

1. ~ 415.2
2.~ 3254
3.~ 391.7
4 ~ 306.6
Options :

21052930125. 1
21052930126. 2
21052930127. 3

21052930128. 4

Question Number : 33 Question Id : 2105297665 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930129. 1
21052930130. 2
21052930131. 3

21052930132. 4

Question Number : 34 Question Id : 2105297666 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
&1 M & SUER & f0 STHare ATl & Yot H SRTdId (@) ¥ SR (7) & §d S0
fHa1 &7

1.2:3
2. 34
3.1:3
415

Options :

21052930133. 1
21052930134. 2
21052930135. 3

21052930136. 4

Question Number : 35 Question Id : 2105297667 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. ~120 %
2.~ 168 %
3.~ 141 %
4. ~ 145 %
Options :

21052930137.1
21052930138. 2
21052930139. 3
21052930140. 4

Sub-Section Number : 5
Sub-Section Id : 210529291
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 2105297668 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the full form of the abbreviation GIF?

1. Graphics Interchange Format
2. Graphics Interchange File

3. Global Interchange Format
4. Graphics Input Format

Options :

21052930141. 1
21052930142. 2
21052930143.3

21052930144. 4

Question Number : 36 Question Id : 2105297668 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
URavil 2 GIF BT RIET TS ?

1. T1pa Seod BIHe
2 mﬁ}ﬂg E’QE&IE hlgd
3. JEE. G E'E»m-ﬁl Eﬁ?ﬂa
4 pay 3YC HBide
Options :
21052930141. 1
21052930142. 2
21052930143. 3

21052930144. 4

Question Number : 37 Question Id : 2105297669 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following correctly lists computer memory types from lowest to highest speed?

1. Main Memory, Cache Memory, Secondary Storage
2. Cache Memory, Secondary Storage, Main Memory
3. Secondary Storage, Main Memory, Cache Memory
4. Secondary Stage, Cache Memory, Main Memory

Options :

21052930145. 1
21052930146. 2
21052930147. 3

21052930148. 4

Question Number : 37 Question Id : 2105297669 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafafea d Faaa A 3aqn Elis ol = 4 v ARl S wel gl @ i § 2

1. =1 Hia, 2 Hid, fgdgs Hsru
2. &2 Hia, lgdias veru, 7= |id
3. fadia® veru, 3= ¥fa, &2 Hid
4. fadig® YR, 7 94, 97 ¥id
Options :

21052930145. 1
21052930146. 2
21052930147. 3

21052930148. 4

Question Number : 38 Question Id : 2105297670 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Speed of Internet is measured in

1. GHz
2. Gbps
3. GB
4. dpi

Options :

21052930149. 1
21052930150. 2
21052930151.3

21052930152. 4

Question Number : 38 Question Id : 2105297670 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



ERdc Bl Efis_ HATH 9§ -

1. GHz
2. Gbps
3. GB
4. dpi

Options :

21052930149. 1
21052930150. 2
21052930151.3

21052930152. 4

Question Number : 39 Question Id : 2105297671 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Machine Learning requires good quality and sufficient data to train and test the
algorithm

Reason R: For correct classification, good quality data which is free from noise, and sufficient
data is required for training and testing of the algorithm.

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the cerrect explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052930153. 1
21052930154. 2
21052930155. 3
21052930156. 4



Question Number : 39 Question Id : 2105297671 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Hid &l By UL § ; Ugen ey (4) AR U dd (R) & :

HHHY (A) : HIH AT H S oAl HR T el Bl TGSl Bl ¢ dlid HNRGH &
TfRie SR TiiE B 9 |

% (R) : TeI aIBRUl o feTU 373 0rawl dTct Sl ol TR Y G 51 9y Uia Sl liReH &
TfR1ET 3R Tiiem & T afed g B
SUYdd HYHT & i § Fgiicd bl § U diide J9gad S g :
1. (A) 3R (R) ST €1 & 3R (R), () BT GE SR 31
(A) 3R (R) TFI WE1 € 3R (R), () B el oA1eH] T8 21
(A) TEl & TR (R) Terd ¢
(A) Tl Tl & IRg (R) T €
Options :

21052930153. 1
21052930154. 2
21052930155. 3

21052930156. 4

Question Number : 40 Question Id : 2105297672 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Using a websites to pour out one’s grievances is called

1. Cyber venting
2. Web hate

3. Web anger

4. Cyber abuse

Options :
21052930157. 1
21052930158. 2

21052930159. 3



21052930160. 4

Question Number : 40 Question Id : 2105297672 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Jauge @I U o fadl @1 ead & Heiad @ $gl Il & -

1. GIZER afed

2. dgge

3. d9UR

4. GIEeR &GN

Options :

21052930157. 1
21052930158. 2
21052930159. 3
21052930160. 4

Question Number : 41 Question Id : 2105297673 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Lakes are considered to be more susceptible to pollution than rivers
Reason R: Water in lakes may take decade(s) to be replaced

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the cerrect explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :



21052930161. 1
21052930162. 2
21052930163. 3

21052930164. 4

Question Number : 41 Question Id : 2105297673 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TGl oy R TN § : Ue @ ey (A) 3R G @ ad (R) Pel T & ;
Ay (a) ; ATl @1 e Sfial & ugtd e @I e TuE aidl
@ (R) : STl & oid o] Ufduiiud g5 & 3@ ai 9@d 5 |

I HYAl & eid o Agiferd [deeal O I affde 3uged I8 94 ;
(A) 3R (R) GHT TET § 3R (R), (A) B &I TRAT R |

(A) 3R (R) ST TET & 3R (R), (A) BT G R 387 21

. (A) W1 & 0XG (R) TE1 e €

(A) T8l T8l & I3 (R) Tel &

Options :

q
I.

oW

21052930161.1
21052930162. 2
21052930163. 3
21052930164. 4

Question Number : 42 Question Id : 2105297674 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Thermal reactors produce energy by fission of the following nuclear fuels
A. Uranium-235 (23°0)

B. Uranium-233 (223U)

C. Uranium-238 (2380)

D. Thorium-232 (£2Th)

E. Plutonium-239 (2°py)

Choose the correct answer from the options given below:

1. A, B, Cand E only
2.A B, CDandE
3. A B, DandE only
4. A B and E only

Options :

21052930165. 1
21052930166. 2
21052930167. 3

21052930168. 4

Question Number : 42 Question Id : 2105297674 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



e Ruger gfofad gfdaar Su & fag=a 4 ol Sad did & -
A. TIFTH - 235 (235 ) / (B5U)

B. RA4H - 233 (233 9/ (B3U)

C. T - 238 (238 9) / (20U)

D. YiRgH - 232 (232 & @) / (32Th)

E. W9 - 239 (239 U1 g) / (3%u)
FafoRad fameal & © U981 IR @1 99 @s
1. Bad A, B, C 3R E

2. HdAA, B, C,D3HRE

3. Hadd A B D3RE
4. FdaA BIARE

Options :

21052930165. 1
21052930166. 2
21052930167. 3

21052930168. 4

Question Number : 43 Question Id : 2105297675 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Noise pollution is measured in decibels (dB) with reference to a standard sound intensity of
the following magnitude

1.1 pico watt per m*
2.1 milliwatt per m?

3. 1 nanowatt per m?
4,1 microwatt per m?

Options :

21052930169. 1
21052930170. 2
21052930171.3



21052930172. 4

Question Number : 43 Question Id : 2105297675 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.1 Wiprare ufg e
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Options :

21052930169. 1
21052930170. 2
21052930171.3

21052930172. 4

Question Number : 44 Question Id : 2105297676 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In a polluted urban area, which one of the following has the highest concentration (ppv) in

photochemical smog?

1. Ozone

2. PAN

3. Hydrocarbons (without methane)
4. Carbon monoxide

Options :

21052930173. 1
21052930174. 2
21052930175. 3
21052930176. 4



Question Number : 44 Question Id : 2105297676 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Teitd TEd 8§ micioiea YH-®les § Mfaied 3§ 9 g @1 Swad gigar [ & &) g 87

PRUREE
2. TESI@E-g (4 HidH b)
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Options :

21052930173. 1
21052930174. 2
21052930175. 3
21052930176. 4

Question Number : 45 Question Id : 2105297677 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List I with List Il

List | List 11

Environmental Protocol/Agreement/Action Plan  |Provisions

|. Integrated water resource

A, Montreal Protocol
management

B. Paris Agreement II. Emissions trading

lll. Phasing out ozone-depleting

C. Climate Action Plan
substances

IV. Intended Nationally Determined

D. Kyoto Protocol e
Contributions

Choose the correct answer from the options given below:

TA-I,B-I,C-1,D-IV
ZA-IL,B-N,C-1,D-IV
3A-ILB-IV,C-1,D-I
4 A-I,B-IV,C-1,D-1

Options:

21052930177. 1
21052930178. 2
21052930179. 3

21052930180. 4

Question Number : 45 Question Id : 2105297677 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-ILB-ILC-L,D-IV
ZA-ILB-ULC-1,D-IV
SA-ILB-IV,C-1II,D-|
4 A-ILB-IV,C-1,D-1l

Options :

21052930177. 1
21052930178. 2
21052930179. 3

21052930180. 4

Question Number : 46 Question Id : 2105297678 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The Chinese scholars, I-Qing and Xuan Zang visited ancient Nalanda University during

1. 57 century CE
2. 7" century CE
3. 10% century CE
4.12% century CE

Options :

21052930181. 1
21052930182. 2
21052930183. 3

21052930184. 4



Question Number : 46 Question Id : 2105297678 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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3.10 df Trdleg) 4 5 H
IR PEIRGICAE IR

Options :

21052930181. 1
21052930182. 2
21052930183. 3

21052930184. 4

Question Number : 47 Question Id : 2105297679 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which year, the Union Government decided that all cases pertaining to the allocation of
grants-in-aid from public funds to the Central Universities and other universities and
institutions of higher learning might be referred to the University Grants Commission?

11952
2. 1953
3. 1954
41956

Options :

21052930185. 1
21052930186. 2
21052930187.3
21052930188. 4



Question Number : 47 Question Id : 2105297679 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

forg qu & g WHR - 78 Fvfy o s <l faftral 9 dfig fagfaemel ok oy fayfaeme!
qUT I TS0 TR &1 Y] e & feed ¥ Haifed it 9md fayfaemy siger
SRS T

11952
2. 1953
3. 1954
4.1956

Options :

21052930185. 1
21052930186. 2
21052930187. 3

21052930188. 4

Question Number : 48 Question Id : 2105297680 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements
Statement I: Universities are established by Central/State Act under 2(f) of the UGC Act, 1956

Statement II: Deemed to be University is declared by a Notification of the Central
Government, on the advice of the UGC, under section 3 of the UGC Act, 1956

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are true

2. Both Statement | and Statement || are false

3. Statement | is correct but Statement || is false
4, Statement | is incorrect but Statement Il is true

Options :

21052930189. 1



21052930190. 2
21052930191. 3

21052930192. 4

Question Number : 48 Question Id : 2105297680 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930189. 1
21052930190. 2
21052930191. 3

21052930192. 4

Question Number : 49 Question Id : 2105297681 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



According to the International Commission on Education for the Twenty-first Century headed
by Jacques Delors, which of the following main tensions will be witnessed during the 21

century?

A. The tension between the global and the local

B. The tension between tradition and modernity

C. The tension between the spiritual and the material

D. The tension between the poor and the rich

E. The tension between the developed and the developing societies
Choose the correct answer from the options given below:

1. A B and C only
2.B,Cand D only
3.C, D and E only
4. A Dand E only

Options :

21052930193. 1
21052930194. 2
21052930195. 3
21052930196. 4

Question Number : 49 Question Id : 2105297681 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. BAA, B AR C
2. $ad B, C AR D
3.%aaC D ARE
4. HaaAD, E AR A

Options :

21052930193. 1
21052930194. 2
21052930195. 3

21052930196. 4

Question Number : 50 Question Id : 2105297682 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List I with List Il

List | List Il

Categories of environmental educationExamples of those objectives
objectives

. To help social groups and individuals identify

A, Environmental Awareness ;
and solve environmental problems

II. To help social groups and individuals acquire a

B. Environmental Knowledge )
set of values for the environment

, ) lll. To help social groups and individuals acquire a
C. Environmental Attitude L ,
sensitivity to the total environment

IVV. To help social groups and individuals gain a
D. Environmental Skill variety of experience in environment and its
associated problems

Choose the correct answer from the options given below:

TLA-ILB-1,C-I,D-IV
ZA-LB-UL,C-IV,D-I
3A-IV,B-ILC-1,D-1
4 A-I,B-V,C-1Il, D-1I

Options:

21052930197. 1
21052930198. 2
21052930199. 3
21052930200. 4

Question Number : 50 Question Id : 2105297682 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-ILB-C-1ILD-IV
ZA-1LB-ILC-IV,D-I
3A-IV,B-1,C-1,D-1lI
4A-,B-IV,C-1Il, D-1I

Options:

21052930197. 1
21052930198. 2
21052930199. 3
21052930200. 4

PART II Law
Section Id : 21052992
Section Number : 2
Section type : Online
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Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200



Display Number Panel : Yes

Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 210529292
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 2105297683 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

‘The movement of progressive societies has hitherto been a movement from status to
contract”. The statement has been made by :

1. Savigny
2. Puchta
3. Maine
4. Burke

Options :

21052930201. 1
21052930202. 2
21052930203. 3

21052930204. 4

Question Number : 51 Question Id : 2105297683 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :



21052930201. 1
21052930202. 2
21052930203. 3

21052930204. 4

Question Number : 52 Question Id : 2105297684 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following statements describes the relationship between law and morality among
non- positive legal theorists?

1. Law is always in advance of moral ideas .

2. Morality is generally in advance of the law.

3. The law is inextricably bound up with morals .

4. There is no relationship between law and morality .

Options :

21052930205. 1
21052930206. 2
21052930207. 3
21052930208. 4

Question Number : 52 Question Id : 2105297684 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
R - yorE [0f® Rrgiqarteal & o @ oy [ ok Afosa & 7@ ddy @l exfars
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Options:

21052930205. 1

21052930206. 2



21052930207. 3

21052930208. 4

Question Number : 53 Question Id : 2105297685 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The main purpose of 'Corporation Scle' is to ;

1. Make the property easily inheritable.
2. Make the property easily transferable .
3. Maintain continuity of an office.

4. Protect the property of state.

Options :

21052930209. 1
21052930210. 2
21052930211.3

21052930212. 4

Question Number : 53 Question Id : 2105297685 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930209. 1
21052930210. 2
21052930211. 3

21052930212. 4



Question Number : 54 Question Id : 2105297686 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
‘The real relation of Jurisprudence to Law depends not upon what law is treated, but how Law

is treated. ' is said by

1. Gierke
2. Gray
3. Rawls
4. Duguit

Options :
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In which case the Supreme Court held that the Preamble does form part of the Constitution?

1. Re Berubari Union and Exchange of Enclaves
2. Minerva Mills v. Union of India

3. Keshava Nand Bharti v. State of Kerala

4, S.R. Bommai v. Union of India

Options :

21052930217. 1
21052930218. 2
21052930219. 3

21052930220. 4
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21052930217. 1
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Under Article 14 of the Indian Constitution, the term 'Equal Protection of the Laws' has been
taken from the:

1. American Constitution
2. British Constitution

3. Australian Constitution
4. Canadian Constituion

Options :

21052930221. 1
21052930222. 2
21052930223. 3
21052930224. 4
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Article 72 of the Indian Constitution makes a provision for :

1. Discharge of the President’s functions in other contingencies.

2. Power of President to grant pardons etc, and to suspend, remit or commute sentences in
certain cases.

3. Extent of executive power of the Union

4. Council of Ministers to aid and advise the President

Options :

21052930225. 1
21052930226. 2
21052930227. 3

21052930228. 4
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21052930225. 1
21052930226. 2
21052930227. 3

21052930228. 4
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In which case, in respect of natural justice, Lord Denning said that "With a good man in the
saddle, the unruly horse can be kept under control. It can jump over obstacles. It can leap
fences put up by fictions and come down on the other side of justice."?

1. Enderby Town Football Club Ltd. v, Football Association Ltd.
2. Canara Bank v. Debasis Das

3. RV. Hendon Rural District Council

4. American Cyanamide Co. v. Federal Trade Commission

Options :

21052930229. 1
21052930230. 2
21052930231. 3

21052930232. 4
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21052930229. 1
21052930230. 2
21052930231. 3

21052930232. 4
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The words ‘International Law' were used for the first time by which one of the following

eminent Jurists?

1. Oppenheim

2. W. Friedmann
3. Austin

4. Jermy Bentham

Options :

21052930233. 1
21052930234. 2
21052930235. 3

21052930236. 4
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21052930233. 1
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21052930236. 4
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Which of the following chapters of the United Nations Charter deals with pacific settlement of

disputes?

1. Chapter V!
2. Chapter VI
3. Chapter Il
4. Chapter |l

Options :

21052930237. 1
21052930238. 2
21052930239. 3
21052930240. 4
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21052930237. 1
21052930238. 2
21052930239. 3

21052930240. 4
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In which of the following cases, the rule, that "there is no distinction between ‘de facto’ and 'de
jure" recognition for the purpose of giving effect to the internal acts of the recognised
authority” was not applied?

1. Bank of Ethiopia v. National Bank of Egypt

2. Luther v. Sagor

3. Bank of China v, Wells Fargo Bank & Union Trust
4. The Arantzazu Mendi case

Options :

21052930241. 1
21052930242. 2
21052930243. 3
21052930244. 4
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21052930241.1
21052930242. 2
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21052930244. 4
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Which of the following provisions of the Statute of International Court of Justice lists "General
Principles of Law Recognized by Civilised States” as the third source of International law?

1. Article 38 (a)
2. Para (1) (c) of Article 38
3. Article 38 (b)
4. Para (3) () of Article 38

Options :

21052930245. 1
21052930246. 2
21052930247. 3
21052930248. 4
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21052930245. 1
21052930246. 2
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21052930248. 4
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A’ an officer of a court of justice, being ordered by that court to arrest 'Y', and after due
enquiry, believing 'Z' to be 'Y", arrests 'Z'. 'A" has committed:

1. An offence of wrongful confinement
2. An offence of wrongful restraint

3. An offence of criminal trespass

4. No offence

Options :

21052930249. 1
21052930250. 2
21052930251. 3
21052930252. 4
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21052930249. 1
21052930250. 2
21052930251. 3

21052930252. 4

Question Number : 64 Question Id : 2105297696 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Section 102 of the Indian Penal code deals with the provision relating to :

1. When the right of private defence of property extends to causing death.

2. Right of private defence against deadly assault when there is a risk of harm to an innocent
person.

3. Commencement and continuance of a right of private defence of the body.

4. When the right of private defence of the body extends to causing death.

Options :

21052930253. 1
21052930254. 2
21052930255. 3
21052930256. 4
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21052930253. 1
21052930254. 2
21052930255. 3
21052930256. 4
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The provision regarding ‘selling minors for purposes of prostitution etc’ is aiven in Indian
=
Penal code under:

1. Section 372
2. Section 373
3. Section 370 A

4. Section 371
Options :
21052930257. 1
21052930258. 2
21052930259. 3

21052930260. 4
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21052930257. 1
21052930258. 2
21052930259. 3
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Section 376 DB of Indian Penal Code provides for the

1. Punishment for gang rape of a woman under sixteen years of age

2. Punishment of rape of woman under twelve years of age

3. Punishment for gang rape of a woman under twelve years of age

4. Punishment for causing death or resulting in a persistent vegetative state of the victim

Options :

21052930261. 1
21052930262. 2
21052930263. 3
21052930264 4

Question Number : 66 Question Id : 2105297698 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HRAIG GUS Gigdl &1 YR 376 S &' # Fafiiad Yath ey g -

1. Gicie gy o] g 9 8 Wl & 91y Tife® ga1 eq aUs

2. 9RE 94 B g Y B Wl & Y g og GUS

3. 9RE 94 &1 A Y HH Tl S U s Sciic o aUs

4. UifSd &1 G 91 TFIAR fadagiia G2 SIed &3 & (07U U8

Options :

21052930261. 1
21052930262. 2
21052930263. 3
21052930264. 4
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According to whom is it ‘Law of Tort and not Law of Torts?

1. Winfield
2. Pollock
3. Fraser

4. Salmond

Options :

21052930265. 1
21052930266. 2
21052930267. 3

21052930268. 4
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"A tort is a civil wrong for which, the remedy is an action for damages and which is not
exclusively breach of contract or breach of trust or breach of merely equitable obligation”. The

above definition was given by :

1. Salmend

2. Winfield

3. Fraser

4. Clerk and Lindsell

Options :

21052930269. 1
21052930270. 2
21052930271. 3

21052930272. 4
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21052930269. 1
21052930270. 2
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21052930272. 4
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When two motorists coming from opposite directions in their cars collide with each other and
in the process, they injure seriously a person who was standing on the roadside, the two
motorists are :

1. Independent tortfeasors

2. Participate in contributory negligence
3. Two negligent persons

4. Joint tortfeasors

Options :

21052930273. 1
21052930274. 2
21052930275. 3
21052930276. 4
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21052930273. 1
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21052930276. 4
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The maxim "Salus Populi Suprema Lex " means

1. Welfare of people is supreme law

2. Increasing population is the supreme cause of concern
3. No man is above low

4. Whatever the public collectively say, is the law

Options :

21052930277. 1
21052930278. 2
21052930279. 3

21052930280. 4
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21052930277.1
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‘Threatening to commit certain acts forbidden by Indian Penal Code" to induce a person to
enter intoc a contract is associated with :

1. Undue influence

2. Coercion

3. Criminal intimidation
4 Threat

Options :

21052930281. 1
21052930282. 2
21052930283. 3
21052930284. 4
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21052930281. 1
21052930282. 2
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"An offer cannot be accepted unless it was brought to the knowledge of the person to whom

it is made”, This was laid down in the case of

1. Lalman Shukla v. Gauri Dutt

2. Balfour v. Balfour

3. Mcgregor v. Mcgregor

4. Carlill v. Carbolic Smoke Ball Co.

Options :

21052930285. 1
21052930286. 2
21052930287. 3
21052930288. 4
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21052930285. 1
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Frustration of a contract occurs in two conditions. Firstly, where the contract has become
physically impossible and secondly, where the object has failed. The above was laid down in
the case of

1. Krell vs Henry

2. Paradine vs Jane

3. Taylor vs Caldwell

4. Komal Rani vs Chandram

Options :

21052930289. 1
21052930290. 2
21052930291. 3
21052930292. 4
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A party who suffers loss as a result of a breach of contract can in the usual course claim

1. Ordinary damages
2. Special damages

3. Exemplary damages
4. Penal damages

Options :

21052930293. 1
21052930294. 2
21052930295. 3

21052930296. 4
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21052930293. 1
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Which one of the following is not an 'Ancient Source’ of Hindu Law?

. Smriti

e

. Precedents
. Digests
. Shruti

O P o
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21052930297. 1
21052930298. 2
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21052930300. 4
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Which of the following is NOT a feature of ‘Mitakshara Coparcenary'?

1. Unobstructed heritage

2. Obstructed heritage

3. Unpredictable and fluctuating interest

4. Community of interest and unity of possesion

Options :

21052930301. 1
21052930302. 2
21052930303. 3

21052930304. 4
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Rules relating to "Sapinda Relationship’ are based on the principle of

1. Endogamy
2. Polyandry
3. Polygyny
4. Exogamy

Options :

21052930305. 1
21052930306. 2
21052930307. 3

21052930308. 4
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A bigamous Hindu marriage is

1. Void but not punishable
2. Void and punishable

3. Voidable

4. Valid

Options :

210529303009. 1
21052930310. 2
21052930311. 3

21052930312. 4
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21052930311. 3
21052930312. 4

Question Number : 79 Question Id : 2105297711 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



National Commission of Minorities was established under which of the following provisions?

1. Article 328 of the Constitution.

2. Article 328A of the Constitution.

3. Section 3 of National Commission of Minorities Act, 1992,
4, Article 280 of the Constitution of India

Options :

21052930313. 1
21052930314. 2
21052930315. 3

21052930316. 4
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The Chairperson of National Human Rights Commission shall be

1. Chief Justice of the Supreme Court

2. Chief Justice of a High Court

3. Judge of the Supreme Court

4. Chairpersons of National Commission of Women

Options :

21052930317. 1
21052930318. 2
21052930319. 3
21052930320. 4
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21052930317.1
21052930318. 2
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21052930320. 4

Question Number : 81 Question Id : 2105297713 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The Commission on Sustainable Development was established in which year?
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21052930321. 1
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21052930324. 4
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The legally binding limit to carbon emission was laid down in

1. Kyoto Protocol on Global Warming, 1997

2. Copenhagen Summit on Climate Change, 2009
3. Durban Conference on Climate Change, 2009
4. Lima Conference on Climate Change

Options :

21052930325. 1
21052930326. 2
21052930327. 3
21052930328. 4
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21052930325. 1
21052930326. 2
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The provision relating to 'legal recognition of electronic signatures’ is contained under which
section of Information Technology Act, 20007

1. Section 3
2. Section 3-A
3. Section 4

4. Section 5
Options :
21052930329. 1
21052930330. 2
21052930331.3
21052930332. 4
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21052930329. 1
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21052930332. 4

Question Number : 84 Question Id : 2105297716 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is a whistleblower?

1. A person who signals illegal or unethical practice to a prescribed body
2. Usually a disgruntled ex-employee

3. A subversive person spying on a company

4. An investigative journalist

Options :

21052930333. 1
21052930334. 2
21052930335. 3

21052930336. 4
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21052930333. 1
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When the biological resources are accessed for commercial utilization or the bio-survey and
bie-utilization leads to commercial utilization, the applicant shall have the option to pay the

benefit-sharing ranging from :

1.0.1t0 0.2
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3.01to04
4011005

Options :

21052930337. 1
21052930338. 2
21052930339. 3
21052930340. 4
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By which amendment, the third and fourth schedules of the IT Act were omitted?

1. Act 10 of 2009
2. Act 55 of 2002
3. Act 66 of 2009
4. Act 09 of 2009

Options :

21052930341. 1
21052930342. 2
21052930343. 3

21052930344. 4
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21052930341. 1
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21052930344. 4
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In a parliamentary form of government, the British convention of ‘Ministerial Responsibility’
has been explicitly codified in the Indian Constitution under :

1. Article 74 (1)
2. Article 74 (2)
3. Article 75 (2)
4. Article 75 (3)

Options :

21052930345. 1
21052930346. 2
21052930347. 3

21052930348. 4
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21052930345. 1
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Which one of the following is the mandatory minimum requirement for a functional
federation?

1. States should be represented in the Upper House of the National Legislature.

2. Judicial Review

3. Distribution of legislative and administrative powers between the two sets of Governments
- National and State, so as to ensure the independence of the Government within their
respective spheres,

4. Distribution of legislative and administrative powers between the two sets of Governments
- National and State, so as to ensure the independent but cocrdinated exercise of powers of

the Government.
Options :
21052930349. 1
21052930350. 2
21052930351. 3
21052930352. 4
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21052930349. 1
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Question Number : 89 Question Id : 2105297721 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No



Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which case, the Supreme Court held that pardoning powers of the President under Article
72 and Governors under Article 161 is subject to the judicial review?

1. Satya Narain Sharma v. State of Rajasthan
2. Vineet Narain v. Union of India

3. Epuru Sudhakar v. State of Andhra Pradesh
4. Chhotey Lal v. State of U.P

Options :

21052930353. 1
21052930354. 2
21052930355. 3

21052930356. 4
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The provision regarding 'legislation for giving effect to international agreements’ is given in

the Indian Constitution under

1. Article 253
2. Article 255
3. Article 251

4. Article 254
Options :
21052930357. 1
21052930358. 2
21052930359. 3
21052930360. 4

Question Number : 90 Question Id : 2105297722 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
' RIVT BRI BT T B @I U AU &1 WayH WA & Hfeye & fFafafed sg=e o
ﬁ?ﬂTI'QTT’;T

1. 3{:\3@4

(g

P
(i
3
T
[
[ S

L
(i
3
T
L
. ¥

P Pd M )

o
ﬁa
£
LA
I

Options :

21052930357. 1
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Which of the following duties have been included by Austin in the category of ‘absolute
duties’?

A. Duties owed to persons indefinitely

B. Self - regarding duties

C. Duties owed to the sovereign

D. Duties owed to parents

Choose the correct answer from the options given below

1. A B and C only
2.B,Cand D only
3. A Cand D only
4 A B CandDall

Options :

21052930361. 1
21052930362. 2
21052930363. 3
21052930364. 4

Question Number : 91 Question Id : 2105297723 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ffeiad dodl # 9 o - b iod] @ 31 FRI T elod * 1 40l # T a1 71 &
A, TS D1 AT BIe P R &1 7741 dvied

3. %4 - Yaefl Peieg

C. dny & ufd ey

D. el - U & i Beid

1.HaAA B AR C
2. aa B, C XD
3.9aa A C3IRD
4 A B, C3RD I

Options :



21052930361. 1
21052930362. 2
21052930363. 3

21052930364. 4
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Which of the following conditions are essential for a custom to be valid?
A. The custom had to possess a sufficient measure of antiquity

B. The custom must have been enjoyed 'as a right’

C. The custom need not be consistent with other customs in the same area
D, The custom must be certain and precise

Choose the correct answer from the opticns given below

1. A and B only

2. A, B, and C only
3. A B, and D only
4 A B CandD all

Options :

21052930365. 1
21052930366. 2
21052930367. 3

21052930368. 4
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21052930365. 1
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Which of the following are the exceptions of the ‘specific enforcement rule’ of the Theory of
Remedial Liability?

A. Imperfect duties

B. Duties that are impossible for specific performance

C. Duties which are inexpedient to enforce specifically
Choose the correct answer from the options given below

1. Aand B only
2. A and C only
3.B and C only
4.A,B and Call

Options :



21052930369. 1
21052930370. 2
21052930371. 3

21052930372. 4
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The provisions given under Article 13 of the Indian Constitution are as follows:

A. All laws in force in the territory of India immediately before the commencement of this
Constitution will be void to the extent of the inconsistency.

B. 'Laws in force' includes all laws passed or made by the legislature or other competent
authority in the territory of India before the commencement of this constitution and not
previously repeated.

C. The state shall not make any law which takes or abridges right conferred by Part Il and any
law made in the contravention shall be void.

D.'Law' does not include any ordinance, order, bye-law, rule, regulation, notification, custom or
usage etc.

E. Article 13 shall apply to any amendment of the Constitution made under Article 368
Choose the correct answer from the options given below

1. Band D only
2. D and E only
3.Aand E only
4. A,BandConly

Options:

21052930373. 1
21052930374. 2
21052930375. 3

21052930376. 4
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Under Article 30 of the Indian Constitution, the right to minorities are guaranteed as under
A. The right is guaranteed to the religious minorities only.

B. The right is guaranteed for linguistic and religious minorities.

C. Right is given only to administer the educational institution

D. Right is given to minorities to establish and administer the educational institution.

E. The state is prohibited from making discrimination in the matter of grant of aid to any
educational institution on the ground that it is managed by a religious minority or linguistic

minority
Choose the correct answer from the options given below

1. A and E only
2. B and C only
3.B, D and E only
4. Cand E only

Options :

21052930377. 1
21052930378. 2
21052930379. 3
21052930380. 4
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Which of the following statements are NOT correct ?

A. In the Hague Conference of 1930, a convention on the conflict of Nationality law was signed
and adopted

B. Nottebohm case is related to "statelessness”,

C. On 7" November 1967, the General Assembly of the U.N adopted the declaration on
elimination of discrimination against women,

D. The Convention on the Reduction of Statelessness, 1961 came into force on December
13,1965,

E. The Convention on the Status of Stateless Persons was adopted on 6th June 1960.

1.A,C, Eonly
2.B,D,Eonly
3.B,C, Donly
4 A,B, Conly

Options :

21052930381. 1
21052930382. 2
21052930383. 3

21052930384. 4
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Which of the following statements are correct?

A. The Dunkel Draft Text or Dunkel Package, or the Dunkel Draft Act embodying the results of
Uruguay Round of Multilateral Trade Negotiation, was released on 20% December 1995.

B. The new World Trade Organisation (WTO) which came into effect on 1%t January 1995,
replaced the General Agreement on Tariff and Trade (GATT).

C. The functions of WTO are mentioned in Article IIl of the Agreement establishing WTO.

D. The Sixth Ministerial Conference of WTO was held in Hongkong (China) from 13*" to 18
December 2008.

Choose the correct answer from the options given below:

1. B, Conly
2.A,C,Donly
3.A,B, Conly
4A,B,CD

Options :

21052930385. 1
21052930386. 2
21052930387. 3
21052930388. 4

Question Number : 97 Question Id : 2105297729 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4 A B CD

Options :

21052930385. 1
21052930386. 2
21052930387. 3

21052930388. 4

Question Number : 98 Question Id : 2105297730 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The provision regarding the offences against the Public Tranquility are as follows :

A. Whoever, being aware of facts which render any assembly, an unlawful assembly,
intentionally joins that assembly, or continues in it, is said to be a member of unlawful
assembly.

B. When two or more persons, by fighting in a public place, disturb the public peace, they are
said to ‘Commit an affray’.

C. Whoever is a member of an unlawful assembly, shall be punished with imprisonment of
either description for a term which may extend to one year.

D. Whoever commits an affray, shall be punished with imprisonment of either description for a
term which may extend to one month, or with fine which may extend to one hundred rupees,
or with both.

E. Whoever is guilty of rioting shall be punished with fine only.

1. Band C only
2. C and D only
3.A BandD only
4. A and C only

Options:

21052930389. 1
21052930390. 2
21052930391. 3
21052930392. 4

Question Number : 98 Question Id : 2105297730 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
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Correct Marks : 2 Wrong Marks : 0
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1. PaaB R C
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4 BAAA AN C

Options:

21052930389. 1
21052930390. 2
21052930391. 3

21052930392. 4

Question Number : 99 Question Id : 2105297731 Question Type : MCQ Option Shuffling : No
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The quantum of punishments given under Indian Penal code are:

A. Whoever commits extortion shall be punished with imprisonment of either description for
a term which may extend to three years or with fine or with both.

B. Whoever commits criminal breach of trust shall be punished for a term which may
extend to seven years.

C. Whoever dishonestly misappropriates or converts to his own use any movable property,
shall be punished with imprisonment of either description for a term which may extend to
two years or with fine or with both.

D. Whoever makes any preparation for committing dacoity shall be punished with fine only.

E. If at the time of attempting to commit robbery or dacoity the offender is armed with
deadly weapons, shall be punished for two years

Choose the correct answer from the options given below

1. Band C only
2. B and D only
3. A, D and E only
4, A and C only

Options :

21052930393. 1
21052930394. 2
21052930395. 3
21052930396. 4

Question Number : 99 Question Id : 2105297731 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.®aa B AR C
2. Baa B AR D
3. %adA DHRE
4. HIAA AR C

Options:

21052930393. 1
21052930394. 2
21052930395. 3

21052930396. 4

Question Number : 100 Question Id : 2105297732 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
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Correct Marks : 2 Wrong Marks : 0



Under Section 361 of Indian Penal Code the "kidnapping from lawful guardianship” is:
A. When someone takes or entices any minor without the consent of the guardian

B. When someone takes or entices any person of unsound mind out of the keeping of lawful
guardian without the consent of the guardian

C. When someone entices or takes away any minor under 16 years of age if male and 18 years
of age if female without consent of the guardian

Choose the correct answer from the options given below

1. A and B only
2.4 BandCall
3. A and Conly
4. B and C only

Options:

21052930397. 1
21052930398. 2
21052930399. 3

21052930400. 4

Question Number : 100 Question Id : 2105297732 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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21052930397. 1
21052930398. 2
21052930399. 3

21052930400. 4

Question Number : 101 Question Id : 2105297733 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Where does vicarious liability generally arise from?

A. A contract of service

B. A contract for service

C. A contract of service as well as a contract for service

D. A wrongful act of servant

Choose the correct answer from the opticns given below:

1. A and D only
2. D only
3. A BandC all
4. E only

Options :

21052930401. 1
21052930402. 2
21052930403. 3

21052930404. 4

Question Number : 101 Question Id : 2105297733 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Had A R D
2. ®ad D

3. ®AAA, BARC
4. Had B

Options :

21052930401. 1
21052930402. 2
21052930403. 3

21052930404. 4

Question Number : 102 Question Id : 2105297734 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A person may be liable in respect of wrongful acts or omission of cthers in which of the
following ways

A. As having ratified and authorised the particular act

B. As standing towards the other person in a relation entailing responsibility for wrongs done
by that person

C. As having abetted the tortious acts committed by others
Choose the correct answer from the options given below:

1. A only
2. B only
3. Conly
4 ABC



Options :

21052930405. 1
21052930406. 2
21052930407. 3
21052930408. 4

Question Number : 102 Question Id : 2105297734 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

21052930405. 1
21052930406. 2
21052930407. 3

21052930408. 4
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Option Orientation : Vertical
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Any agreement in respect of production, supply, distribution, storage, acquisition, or control of
goods or provision of service which causes or is likely to cause an appreciable adverse effect
on competition in India is void. These agreements include

A. Tie in arrangement

B. Exclusive supply agreement

C. Exclusive distribution agreement

D. Refusal to deal

E. Resale price maintenance

Choose the correct answer from the options given below

1. A and B only
2.C,D, Eonly
3.AB, Conly

4 A B CDE-Al

Options :

210529304009. 1
21052930410. 2
21052930411.3
21052930412. 4

Question Number : 103 Question Id : 2105297735 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930409. 1
21052930410. 2
21052930411. 3

21052930412. 4

Question Number : 104 Question Id : 2105297736 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
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Which of the following are correct?

A. The Doctrine of Priority of Consideration is applicable in India.

B. The Doctrine of Priority of Consideration is not applicable in India.
C. The Rule of Priority of Contract is applicable in India.

D. The Rule of Priority of Contract is not applicable in India.

Choose the correct answer from the options given below:

1. A and C only
2. B and D only
3. B and C only
4. C only

Options:

21052930413. 1
21052930414. 2
21052930415. 3

21052930416. 4

Question Number : 104 Question Id : 2105297736 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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21052930413. 1
21052930414. 2
21052930415. 3

21052930416. 4

Question Number : 105 Question Id : 2105297737 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Under Section 5 of the Sale of Goods Act, 1930, a contract for the sale of goods can be made :
A. By writing and must be registered.

B. By word of mouth.

C. By partly in writing and partly word of mouth.

D. By writing or partly in writing and partly by word of mouth.

Choose the correct answer from the options given below

1. Aand C only
2. A and D only
3. Aand B only
4. B and D only

Options :

21052930417. 1
21052930418. 2
21052930419. 3
21052930420. 4

Question Number : 105 Question Id : 2105297737 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Had A AR C
2. HaAA R D
3. ®HadA AR B
4. HaAB AR D

Options:

21052930417. 1
21052930418. 2
21052930419. 3

21052930420. 4

Question Number : 106 Question Id : 2105297738 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option :

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A company can convert into Limited Liability Partnership:

A. By complying to requirements of the third schedule of Limited Liability Partnership Act,
2008.

B. It can convert if there is no security interest in its assets subsisting at the time of application.

C. Partners of Limited Liability Partnership are the erstwhile shareholders of the company and
no one else.

D. All the assets, interests, rights and privileges of the company are transferred to the firm.
Choose the correct answer from the options given below

1. A only
2. B only
3. Conly
4 A B C,D-All

No



Options :

21052930421. 1
21052930422. 2
21052930423.3

21052930424. 4

Question Number : 106 Question Id : 2105297738 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

21052930421. 1
21052930422. 2
21052930423.3

21052930424. 4
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Under the Muslim Women (Protection of Rights on Divorce) Act, 1986, a divorced woman shall

be entitled to:

A. A reasonable and fair provision and maintenance to be made and paid to her within the
‘iddat’ period by her former husband.

B. Maintainance of children by her former husband for a period of three years.
C. Get maintenance from her relatives even after her remarriage.
D. All the properties given to her at any time only by her husband.

E. An amount equal to the sum of "Maher ' or dower agreed to be paid to her at the time of
marriage or at anytime thereafter according to Muslim Law.

Choose the correct answer from the options given below

1. A and E only
2. A B, and E only
3.B, Cand E only
4. A and B only

Options :

21052930425. 1
21052930426. 2
21052930427.3

21052930428. 4

Question Number : 107 Question Id : 2105297739 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4. HaTA HR B

Options :

21052930425. 1
21052930426. 2
21052930427. 3

21052930428. 4

Question Number : 108 Question Id : 2105297740 Question Type : MCQ Option Shuffling : No
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Option Orientation : Vertical
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Which of the following is NOT a condition precedent for a valid adoption under the Hindu
Adoptions and Maintainance Act, 19567

A. Adopter must have the capacity and right to take in adoption.
B. The child must be eligible for adoption.

C. The giver must have the capacity and right to give in adoption,
D. Datta - homam is mandatory

Choose the correct answer from the options given below

1. A and B only
2.B and D only
3.Cand D only
4. A and C only

Options:

21052930429. 1
21052930430. 2
21052930431. 3
21052930432. 4

Question Number : 108 Question Id : 2105297740 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930429. 1
21052930430. 2
21052930431.3
21052930432. 4

Question Number : 109 Question Id : 2105297741 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The responsibilities of Economic and Social Council regarding improvement and protection of
human rights is laid down under which Article of UN Charter?

A. Article 62(2)

B. Article 68

C. Article 76(c)

D. Article 96

Choose the correct answer from the options given below:

1. A only
2. B only
3. Conly
4. D only

Options:

21052930433. 1
21052930434. 2
21052930435. 3

21052930436. 4

Question Number : 109 Question Id : 2105297741 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930433. 1
21052930434. 2
21052930435. 3

21052930436. 4
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The provision relating to 'solid waste management' is contained under which Schedule of the
Constitution of India?

A, Schedule VII
B. Schedule IX
C. Schedule X
D. Schedule XI|
Choose the correct answer from the options given below

1. A only
2. B only
3. Conly
4. D only

Options :

21052930437. 1
21052930438. 2
21052930439. 3
21052930440. 4

Question Number : 110 Question Id : 2105297742 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930437. 1
21052930438. 2
21052930439. 3

21052930440. 4

Question Number : 111 Question Id : 2105297743 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The provision relating to ‘drinking water’ is contained under which Schedule of the
Constitution of India, 19507

A. Schedule VI

B. Schedule IX

C. Schedule X

D. Schedule X

Choose the correct answer from the options given below

1. A only
2. B only
3. Conly
4. D only



Options :

21052930441. 1
21052930442. 2
21052930443. 3
21052930444. 4

Question Number : 111 Question Id : 2105297743 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

U S & S99y J U9UH * HRd & 93U, 1950 &1 o Sigget F sidfdy & -
A. 3! 91d

B, STl Al

C.3F1YHl RS

i feu e famedl 5 9 98 IR 9T

1. Had A
2. ®ad B
3. HaaAC
4. HaAD

Options:

21052930441.1
21052930442. 2
21052930443. 3

21052930444. 4
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In which of the following cases, the ‘'minimal creativity test’ was laid down?
A. Eastern Book Company v. D.B. Modak

B. R.G. Anand v. Delux Films

C. Amar Nath Sehgal v. Union of India

D. University of London Press v. University Tutorial Press

Choose the correct answer from the options given below

1. A only
2. B only
3. C only
4. D only

Options :

21052930445. 1
21052930446. 2
21052930447.3

21052930448. 4

Question Number : 112 Question Id : 2105297744 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
e d 4 &F - 9 9| 5 gAad o ganr FHulfea fear marar 2
A ST gP B & o1 9. die®

B. . 9. < 9491 Siaay fhey

C. AT HeTd 8419 YRd 99
D. gHaRid HI% tied U4 s gHaRid egeiRaa U9
i< feu e fasedl § © Uel IR 9T

1. 5ad A
2. Had B
3. Haa C
4, %A D

Options :




21052930445. 1
21052930446. 2
21052930447. 3

21052930448. 4

Question Number : 113 Question Id : 2105297745 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

By which amendment of Information Technology Act, 2000 the third and fourth schedules were
omitted?

A. Act 10 of 2009
B. Act 55 of 2009
C. Act 66 of 2009
D. Act 09 of 2009
Choose the correct answer from the options given below

1. A only
2. B only
3. Conly
4. D only

Options :

21052930449. 1
21052930450. 2
21052930451.3
21052930452. 4

Question Number : 113 Question Id : 2105297745 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



o1 D! SHaFaH, 2000 & &9 Wity GRI G ok Iqd sryfedl &1 fear
A. ¥ 2009 BT SHFAFTH 10

B. @Y 2009 BT 3HTUFTH 55

C. T 2009 BT AT 66

D. @Y 2009 7 3T 09

I few v faeeul 7 ¥ ¥81 Ik gL

1. Had A
2. Had B
3. HaaC
4.$gaD

Options :

21052930449. 1
21052930450. 2
21052930451. 3

21052930452. 4

Question Number : 114 Question Id : 2105297746 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the Presidential form of government:

A. The chief executive is relatively free from sectional and party disputes.

B. The chief executive is free to choose his team of ministers from the best talent available.
C. The term of the chief executive is not fixed.

D. It discourages the disease of defections.

Choose the correct answer from the options given below

1. A, B, and C only
2. A B, and D anly
3.B, C and D only
4 A,B,CandD - All

Options :



21052930453. 1
21052930454. 2
21052930455. 3

21052930456. 4

Question Number : 114 Question Id : 2105297746 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
JE&THS MY WOl |

A. T8 STUBR] U] oI SR T2 f3aTel 3 Had aidl 2

B. e BIABRI IUcTed Garad UiaHTdl § ¥ g1 50t YHE g4 & oL WA g |

CHE BN &1 Hded Fad 76l el o

D. U8 GO€cd & U7 &I gdlcdlied Bl g
Fufeiad fadweal 4 O galfae Suged S| 4 ;

1.®aA A, B3R C
2. HaaA, B AR D
3. a8, C 3D
4. A B, C DIH

Options :

21052930453. 1
21052930454. 2
21052930455. 3

21052930456. 4

Question Number : 115 Question Id : 2105297747 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Read the statements about 'rule of law":
A. Rule of law is an important and fundamental pillar of a liberal and substantive democracy.

B. The rule of law is not merely public order, the rule of law is social justice based on public

order.

C. The substantive ‘rule of law' is the rule of proper law which balances the needs of the

society and the individual.
D. Substantive and liberal democracy is based solely on formal democracy.
Choose the correct answer from the options given below

1. A B, and C only
2. A, Cand D only
3.A,Band D only
4 A B, CandD -All

Options :

21052930457. 1
21052930458. 2
21052930459. 3
21052930460. 4

Question Number : 115 Question Id : 2105297747 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



AR T I IR E T P UE
. Taf¥ &1 25 BaR 3R S/ didda & Few@unl R g6 &R 8
5. f3fY &1 I $9d i o ol ¢ 9o U Ald odawy] AIYTRG FEivid O &

c.3ifgrd fafe &1 I ogfed Al &1 9RF & 9 999 3R el of sraxgadis| b sl
SGNEACGIGI

D. HTUEH! iR YR Tidda QUi: * SRS dlidaa TR H1HRd gidl 2|

faifeed fodedl # € 981 SR 9

1. BaaA, B IR C

2. Bad A, CHRD

3. Had A B IR D
4 A B C 3R DaH

Options:

21052930457. 1
21052930458. 2
21052930459. 3

21052930460. 4

Question Number : 116 Question Id : 2105297748 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | List I

A. Definition of Permanent Lok Adalat l. Section 22 - B
B.Establishment of Permanent Lok Adalat Il. Section 22 - C
C.Cognizance by Permanent Lok Adalat lll. Section 22 - E
D.Award of Permanent Lok Adalat IV. Section 22 - A

Choose the correct answer from the opticns given below:

8=y B=N i C=I1 D=
2= 5 B-5C- 1 D=
LA-N;B=; C-I ;D =]
4 A-WV;B-1;C-1I;D-1I

Options :



21052930461. 1
21052930462. 2
21052930463. 3

21052930464. 4

Question Number : 116 Question Id : 2105297748 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

l-| B i1l & FIY AT DI ;

Tl BEIRl

A, R T SfaIeTd &1 GRyTT I YRT122 - B
B. | A® 3G B RG] LRI 22 - €
C. W Sid 3farad gR1 93 o S I URT22-F
D. UM @ Head &l (A V. ¥RT 22 - A
fgfafed faseal § ¥ U8 S 94 ;

1. (A) -(1), (B) - (IV), (€) - (1), (D) - (1)

2. (A) (1), (B) - (), (C) - (1), (D) - (IV)

3. (A) (1), (B) - (1), (C) - (IV), (D) - (1)

4. (A) -(IV), (B) - (1), (€) - (1), (D} - (1)

Options :

21052930461. 1
21052930462. 2
21052930463. 3
21052930464. 4

Question Number : 117 Question Id : 2105297749 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List 1 with List 1l

List | List 11

Provision under the Constitution of India Article

A. Special provisions with respect to the state of || .10 371 £

Manipur

B. Special provisions with respect to the state of
Karnataka II. Article 371 -G

C. Special provisions with respect to the state of
Sikkim 1. Article 371 -C

D. Special provisions with respect to the state of
Mizoram IV. Article 371 -J

Choose the correct answer from the options given below:

TA-Il ;B-1;C-1IV; D-1l
A B C- 1 1DV

FA-IVB - C-H: D=

4 A-1l ;B-IV; C-1;D-ll

Options:

21052930465. 1
21052930466. 2
21052930467. 3
21052930468. 4

Question Number : 117 Question Id : 2105297749 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HRA & YlaYH & SRid gl - | B gl - 11 o 91y GHferd e -

i - | gl - 1l

Uy =de

A. AR o9 & Gy H faviy Suey .3 w8G 371 - F
B. Bie® vl & Yay J 339 Iusy 1. 3%9G 371 - G
c. fafdeT g & 99y § faum guey lIl. 3FTw9G 371 - C
p. fiiRg Uo & gay § 339 Suay V. 3G 371 -
I fou e fadeal @ Ugl IR g

1. (A) -(11), (B) - (). (C) - (IV), (D) - (1)

2. (A) -(1), (B) - (1), (C) - (1), (D) - (IV)

3. (A) -(IV), (B) - (111}, (C) - (1), (D) - (1)

4. (A) (1), (B) - (IV), (C) - (0, (D) - (1)

Options

21052930465. 1
21052930466. 2
21052930467. 3

21052930468. 4

Question Number : 118 Question Id : 2105297750 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List 1 with List 1l

List | List 11
( Article of the statute of the
(Provision) International Court of
Justice)
A. Law applied by the International )
: . Article 36
Court of Justice.
B.Courts power to allow a state to
intervene in a case to which itisnota |l Article 38
party
C. Jurisdiction of the International ,
, . Article 41
Court of Justice
D.Interim Measures or relief by the .
IV. Article 62

International Court of Justice.

Choose the correct answer from the options given below:

TA-1;B-H;C-l;D-IV
ZA-;B-W;C-1;D-1N
S3A-ILB-;C-1;D-IV
4 A-IV;B-1I;C-1I;D-|

Options:

21052930469. 1
21052930470. 2
21052930471.3
21052930472. 4

Question Number : 118 Question Id : 2105297750 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i T &1 ol &1 ° e o

i - | gl - 1l
AT CEEEEe
A. JTRISTY ARy GRI AR B . G 36
B. IS & Widd forgH gg 34 Iy & g%dau ——
@1 Al a1 & 9 uref el & |

C. SRIPTT e &1 &FUBR Il =56 41
D. S{IP T qTaTerd RT SidRH Ugd SUM V. TG 62
frgfafad o O gel faded 9 :

1. (A) -(1), (B) - (1), (C) - (1), (D) - (IV)

2. (A) (1), (B) - (IV), (Q) - (1), (D) - (1)

3. (A) (1), (B) - (i), (C) - (1), (D) - (IV)

4. (A) -(IV), (B) - (1), (C) - (1), (D) - (1)

Options :

21052930469. 1
21052930470. 2
21052930471. 3

21052930472. 4

Question Number : 119 Question Id : 2105297751 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List 1 with List 1l

List | List Il
Provision under Indian Penal Code Section
A. An act done in good faith for benefit of a . Section 423

person without consent.

B.Dishonest or fraudulent execution of the deed :
o [l. Section 381
of transfer containing false statement of

consideration.

C. Voluntarily causing grievous hurt by use of acid | lll. Section 92
etc.

IV. Section 326 A
D. Theft by clerk or servant of property in

possession of master.

Choose the correct answer from the options given below:

TA-I;B-1;C-11;D-1IV
ZA-IILB-1L,C-IV,D-II

SA-1;B-H;C-;D-IV
4 A-IV;B-1Il;C-11;D-1

Options:

21052930473. 1
21052930474. 2
21052930475. 3
21052930476. 4

Question Number : 119 Question Id : 2105297751 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HRAg GUs digdl & Siatid gul-1 &1 Gul-1l 9 f&aH &1

-1 gl-11
BIGHIES RT
A. THd @ a1 Tl ofdd o BTaG @ o/ Saalayd® (a1 || 4RI
T B 423

B. =020l & U facid @1 forad ufded & ddu § amayd |l 4RI
IIAP &, 9591 § O HUCISS [sG 387
.37, 3G & TaH T Wesdl UR SUghd BIed 3l g!am
0. Rt 1 Yo g1 STl S el 1 W A 9 '3"“"2;”:7
Fufeiad faodal § U 98l 3w 9 -

1. (A) (1), (B) - (1), (©) - (1), (D) - (IV)

2. (A) (1), (B) - (1), (©) - (IV), (D) - ()

3. (A) -(1), (B) - (1), (C) - (1), (D) - (IV)

4. (A) -(IV), (B) - (1), (C) - (1), (D) - (1)

Options

21052930473. 1
21052930474. 2
21052930475. 3

21052930476. 4

Question Number : 120 Question Id : 2105297752 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List 1 with List 1l

List | List 11

s g Section under Consumer Protection
Jurisdiction

Act, 1986
A, Jurisdiction of District .
l. Section 11
forum
B. Jurisdiction of State ;
o . Section 21
commission.
C. Jurisdiction of National lll. Section 22 A

Commission

D. Power to set aside ex parte |IV. Section 17

orders.

Choose the correct answer from the options given below:

TA-1;B-WV;C-1I;D -1l
ZA-;B-11;C-IV;D-|
S3A-ILB-;C-1;D-IV
4 A-WB-E;C-;D-MN

Options:

21052930477. 1
21052930478. 2
21052930479. 3
21052930480. 4

Question Number : 120 Question Id : 2105297752 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gali-1 Dl Fali-1l & Yy Ao & :

-1 gl-1l

A foTe BIRA &1 SUFEReE . IRT 11
B. Tl SN &1 DR &F 11, ¥R 21
C. TP TN I HADR & ll. 4RT 22 &
D. THUETT e &I IE B & Uiad V. URT 17
A feu e fawredl § O8] TR @1 90 @

1. (A) -(1), (B) - (IV), (C) - (1), (D) - (1)

2. (A) (1), (B) - (), (C) - (IV), (D) - (1)

3. (A) (1), (B} - (1), (C) - (), (D) - (IV)

4. (A) -(IV), (B) - (1), (C) - (1), (D} - (1)

Options:

21052930477.1
21052930478. 2
21052930479. 3
21052930480. 4

Question Number : 121 Question Id : 2105297753 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List I

List | List Il

(Terms) (Section of Companies Act, 2013)
A. Abridged Prospectus . Section 31

B. Deemed Prospectus Il. Section 32

C. Shelf Prospectus 1. Section 2 (1)

D. Red herring Prospectus |V, Section 25

Choose the correct answer from the options given below:

TA-I;B-IV;C-1;D-1l
ZA-1;B-,C-IV;D-)
JA-1;B-0;C-M;D-V
4 A-IV;B-1;C-lI;D-1

Options :



21052930481. 1
21052930482. 2
21052930483. 3

21052930484. 4

Question Number : 121 Question Id : 2105297753 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Tdl-| SR Gl-1l ¥ Sfceifad U=t HRHgE 2013 &1 Gid 4R & gHikid Sifoe ;

- -1

A, Hiad faaiurdT I. ¥R 31
B. HTG faaiurel 11, IR 32
C.' 2w * fagfo 1. R0 2 (1)
D. 38 gl * Taafoma V. R 25
4 feu e [dwedf § 9§ Uel 3R 9T

1. (A) (), (B) - (IV), (C) - (1), (D) - (1)

2. (A) -(11), (B) - (1), (C) - (1V}, (D) - ()

3. (A) -(1), (B) - (1), (C) - (1), (D) - (IV)

4. (A) -(IV), (B) - (1), () - (1), (D) - (1)

Options :

21052930481. 1
21052930482. 2
21052930483. 3
21052930484. 4

Question Number : 122 Question Id : 2105297754 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List 1 with List Il under

List | List 1l
;o Section under Muslim

Provision .
Woman Protection of
Rights on Marriage Act,
2019

A. Punishment for pronouncing talag . Section 3

B. Offences to be cognizable, )
Il. Section 7

compoundable etc.

C. Custody of minor children lIl. Section 4

D. Talag to be void and illegal IV. Section 6

Choose the correct answer from the options given below:

TA-1;B-H;C-W:;D =W
ZA-;B-11;C-IV;D-|
SA-ILB-IV,C-1II,D-|

4 A-WB-E;C-;D-MN

Options:

21052930485. 1
21052930486. 2
21052930487. 3

21052930488. 4

Question Number : 122 Question Id : 2105297754 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



-1 -1l
A, TR & @ [ Es |. &7 3
B 30 AT AU 5A1G |1 ETRT -7
C.3UTad dIcd! / anfcidrdl Bi JfLRan 111,813 -4
D. daTd &l [0 SR A= S V4RI -6

(A
(A

1. (A) -(1), (B) - (11}, (C) - (1), (D) - (V)
2.
3. (A
4. (

i), (B) - (). (C) - (V). (B) - (1
i), (B) - (IV), (C) - (1), () - (I
V). (B) - (1), (C) - (1), (D) - (I

Options:

— —

) -
) -
) -
- (A)
21052930485. 1
21052930486. 2
21052930487. 3
21052930488. 4

Question Number : 123 Question Id : 2105297755 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List I

List | List 1

Section under National Green Tribunal Act,
2010

Provision

A, Hazardous )
l. Section.2 (a)

Substance

B. Environment Il. Section 2 (&)
C. Handling 1. Secticn 2 (f)
D. Accident V. Section 2 (c)

Choose the correct answer from the options given below:

TA-1;B-H;C-1V;D-1
ZA-B -0 -IV; D=1
3A-;B-IV;C-11;D-]
4 A-1IV;B-1l;C-I;D-1

Options :



21052930489. 1
21052930490. 2
21052930491. 3

21052930492. 4

Question Number : 123 Question Id : 2105297755 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T B e sifEE 2010 1 3P WayH! & Jci® o Gi-| & gal-1l & 9 faH

A
-

Gag

i1 -1
GBI R

A, URmeTg qer . YR 2 (a)
B. Tgiaem 1LY 2 ()
C. U§HF (g 8fam) 18T 2 (f
DYl IV.ERT 2 ()
1. (A) =(1), (B) - (IN), (Q) - (IV), (D) - ()

2. (A} -(l1), (B) - (1}, (C) - (IV), (D) - (1)

3. (A} -(I), (B) - (IV), (C) - (1), (D) - ()

4. (A) -(IV), (B) - (1), (C) - (1), (D) - (1)

Options

21052930489. 1
21052930490. 2
21052930491. 3

21052930492. 4

Question Number : 124 Question Id : 2105297756 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List 1 with List 1l

List | List I

Provisions Sections of Copyright Act, 1957
A. Performer I. Section 2 (q)

B. Performer's right Il. Section 38 B

C. Performance lIl. Section 38

D. Moral Rights of Performer  |IV. Section 2 (gq)

Choose the correct answer from the options given below:

TA-1;B-H;C-1V;D-Il
ZA-;B-1:C-IV:D-1N
SA-:B-1:C-N:D-1IV
4 A-IV:B-III:C-1:D-1I

Options:

21052930493. 1
21052930494. 2
21052930495. 3

21052930496. 4

Question Number : 124 Question Id : 2105297756 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

| -1l
A Fooce I. T 2 ()
B. Hue®: & HUPR 11, Y17 38 o1
c. Fereq I11.81RT 38
DS & Afd® UHR IV.HRT 2 (] )
1. (A) -(), (B) - (1), (©) - (IV), (D) - (1)
2. (A) -(l1), (B) - (1), (C) - (IV), (D) - (1)
3. (A) (1), (B) - (I, (©) - (1), (D) - (IV)
4. (A) -(IV), (B) - (1), (€) - (D), (D) - ()
Options

21052930493. 1

21052930494. 2



21052930495. 3

21052930496. 4

Question Number : 125 Question Id : 2105297757 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | List 11

A. Murli S. Deora v. . Protection against Inhuman treatment in
Union of India Jail

B. Sunil Batra v. Delhi |l. Protection of Ecology and Environmental
Administration Pollution

. Hussainara Khatoon v.

lll. Ban on smoking in public places
State of Bihar gmp P

D. Rural Litigation and  |IV. Speedy trial is an integral part of the
Entitlement Kendrav.  [fundamental right under Article 21 of the
State of U.P Indian constitution

Choose the correct answer from the opticns given below:

TLA-1;B-Il;C-1ll;D-1IV
2= B-10C= N5 D=1l
AN ;B ;D=1
4 A-IV;B-1I;C-1l;D -1

Options :

21052930497. 1
21052930498. 2
21052930499. 3

21052930500. 4

Question Number : 125 Question Id : 2105297757 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gaii-1 3R Gei-1l DI GHIEd D1

- -
;ﬁaﬁ “AST S HIR | Sl H SEMAIg TIdeR & [90G S
B 1T 91 &4 Tgemil R T -
TR s
CEUAS3IRT Wigd &9 -
A — 11, Groi-e & TR YU IR IS
D. T e e U8 V. YIRd & GfaeH & o =5e 21 & Hdid
gHcrEfeaHe S 9H IR [HEG &l gd aars difas HUeR @1
U T HIYH T8
I feu e fdomedl § 9 9gl 3ok 9 :
1. (A) (1), (B) - (1), (C) - (1), (D) - (IV)
2. (A) -(l), (B) - (1), (C) - (IV), (D) - (l1)
3. (A) -(l), (B) - (1), (Q) - (IV), (D) - (1)
4. (A) -(IV), (B) - (1), (C) - (1), (D) - (1)
Options:

21052930497. 1
21052930498. 2
21052930499. 3

21052930500. 4

Question Number : 126 Question Id : 2105297758 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange in chronological order the publication of the books on Jurisprudence
A. Province of Jurisprudence Determined by Austin

B. Concept of Law by H.LA.Hart

C. The Province and Function of Law by Julius Stone

D. Nature of Judicial Process by Benjamin N.Cardozo

E. Anatomy of Law by Lon L Fuller

Choose the correct answer from the options given below:

(]
B om m M
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m 2
Hiim g g
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Options :

21052930501.

-_

21052930502. 2
21052930503. 3

21052930504. 4

Question Number : 126 Question Id : 2105297758 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(A),
A),
(A),
. (A),

1. (A), (B), (C), (D), (E)
2. (A), (C), (B), (D), (E)
3. (A), (D). (B), (C), (E)
4. (A), (E), (B), (D), (O
Options :
21052930501. 1
21052930502. 2
21052930503. 3

21052930504. 4

Question Number : 127 Question Id : 2105297759 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically the following cases decided by the Supreme Court year wise:
A. Olga Tellis v. Bombay Municipal Corporation.

B. Francis Coralie v. Union Territory of Delhi

C. Satwant Singh v. Assistant Passport officer

D. Kharak Singh v. the State of U.P

E. National Legal Services Authority v. Union of India

Choose the correct answer from the options given below:

.C,D,AE,B
ZA,B,C,D,E
3B,D, A E,C
4D,C,B,AE
Options :

21052930505. 1
21052930506. 2
21052930507. 3

21052930508. 4

Question Number : 127 Question Id : 2105297759 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2:
3.
4
Options :

21052930505. 1
21052930506. 2

21052930507. 3

21052930508. 4

Question Number : 128 Question Id : 2105297760 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Give the chronological order (year wise) of these cases decided by the courts -
A. West Rand Central Gold Mining Company Ltd. V.R.

B. Portugal v. India

C. Burkina Faso v. Mali

D. Mavrommatis Palestine Concessions case

E. Chorzoo Factory (Indemnity) case.

Choose the correct answer from the options given below:

r

l‘-' l‘-' l‘-' l‘-'
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B,
4l
i
D,

P

Options :

210529305009. 1
21052930510. 2
21052930511. 3
21052930512. 4

Question Number : 128 Question Id : 2105297760 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



<JraTad gR1 feu 8 fufa & 31yR R 37 915el &f au-a9R HHES B8
A. % 338 Jad Tlics HISHT &uAl [ &9 R
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C. §fd1 Bl S5 |l

210529305009. 1
21052930510. 2
21052930511. 3

21052930512. 4

Question Number : 129 Question Id : 2105297761 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the provisions of Indian Penal Code in chronological order, section-wise :
A. House-trespass in order to commit an offence punishable with imprisonment for life
B. House-trespass in order to commit an offence punishable with death

C. Lurking house-trespass or house-breaking in order to commit an offence punishable with
imprisonment

D. House-trespass in order to commit an offence punishable with imprisonment

E. Lurking house-trespass or house-breaking by night in order to commit an offence
punishable with imprisonment

Choose the correct answer from the options given below:

1.E,A,C,B,D
2D A ECB
3.A,B,C,D,E
48,A,D,C,E

Options :

21052930513. 1
21052930514. 2
21052930515. 3

21052930516. 4

Question Number : 129 Question Id : 2105297761 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. (E), (A), (C). (B). (D
2. (D), (A). (E). (C), (B
3. (A), (B), (C). (D). (E

)
)
)
4. (B), (A). (D), (Q), (E)

). (
). (
Options :

21052930513. 1
21052930514. 2
21052930515. 3

21052930516. 4

Question Number : 130 Question Id : 2105297762 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in chronological order (section wise) as stated in the Motor Vehicle Act,
1988

A. Procedure and Power of Claims Tribunal

B. Award of Claim Tribunal

C. Claim Tribunals

D. Application for Compensation

Choose the correct answer from the options given below:

1.C,D,B A
2ZA,B,C.D
3.8,C,A.D
4C,D,A B

Options :

21052930517. 1
21052930518. 2
21052930519. 3
21052930520. 4

Question Number : 130 Question Id : 2105297762 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930517. 1
21052930518. 2
21052930519. 3
21052930520. 4

Question Number : 131 Question Id : 2105297763 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Arrange the provisions of the Indian Partnership Act, 1932 in chronological order (section
wise)

A. Partnership at will

B. Mode of determining the existence of the partnership

C. Property of a firm

D, Duties of a partner

Choose the correct answer from the options given below:

1.B,A,D,C
2C, B, A D
3ACBD

4D, 4 8. C

Options :

21052930521. 1
21052930522. 2
21052930523. 3
21052930524 4

Question Number : 131 Question Id : 2105297763 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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Options :
21052930521. 1
21052930522. 2
21052930523. 3

21052930524. 4

Question Number : 132 Question Id : 2105297764 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Chronologically arrange the following Judgements of the Supreme Court of India on Uniform
Civil Code:

A. Daniel Latifi v/s Union of India

B. Jlohn Vallamatton v/s Union of India

C. Sarla Mudgal v/s Union of India

D. Mohd. Ahmad Khan v/s Shah Bano Begum

Choose the correct answer from the options given below:

1.C,B,D A
2D, C,B.A
3.0,C,A B
4A,B,C,D

Options :

21052930525. 1
21052930526. 2
21052930527.3

21052930528. 4

Question Number : 132 Question Id : 2105297764 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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21052930525. 1
21052930526. 2
21052930527. 3

21052930528. 4

Question Number : 133 Question Id : 2105297765 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Arrange the initiatives on climate change in chronological order:
A. Durban conference on climate change

B. Montreal Protocol on climate change

C. Vienna convention on climate change

D. Copenhagen Summit on climate change

E. Kyoto Protocol on climate change

Choose the correct answer from the opticns given below:

1.A,B,C,D,E
2B,C,D,E A
3A,D,C,B,E
4 C,B,E,D A
Options :

21052930529. 1
21052930530. 2
21052930531. 3
21052930532. 4

Question Number : 133 Question Id : 2105297765 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Scrarg ultadH Yde ggdl ®f SIasa-uR sl :
A, STadTg UREcH deel StaT ST
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C. Sqarg URkdaa- e fagHr sftgay

D. Siar] URad- wael @Y giH R aeieH

E. SaaTg UikadH gath el gieisia

21052930529. 1
21052930530. 2
21052930531. 3
21052930532. 4

Question Number : 134 Question Id : 2105297766 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Arrange the theories of intellectual property in order of prominence and influence
A. Personality theory

B. Social Planning theory

C. Labour Theory

D. Utilitarian Theory

Choose the correct answer from the options given below:

Options :



21052930533. 1
21052930534. 2
21052930535. 3

21052930536. 4

Question Number : 134 Question Id : 2105297766 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. (A), (D). (), (B
2. (B), (A),
3. (Q), (B). (
4. (D), (Q), u3~ll (B
Options :

21052930533. 1
21052930534. 2
21052930535. 3

21052930536. 4

Question Number : 135 Question Id : 2105297767 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange in chronological order, the cases relating to U.S. Constitutional Amendments:
A. Plessy v. Ferguson

B. Hawke v. Smith

C. Laser v. Garnett

D. U.S. v. Sprague

Choose the correct answer from the options given below:

1.A,B,C,D
2ZAC,B,D
3.B,C,D A
4D, B, C A

Options :

21052930537. 1
21052930538. 2
21052930539. 3
21052930540. 4

Question Number : 135 Question Id : 2105297767 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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21052930537. 1
21052930538. 2
21052930539. 3

21052930540. 4

Question Number : 136 Question Id : 2105297768 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: The Parliament has the power to make the laws for whole or any part of the
territory of India and law made by the Parliament would be applicable beyond the territory of
India also

Reason R: Article 245 Clause (1) of the Constitution of India empowers the Parliament to make
the laws for the whole or any part of the territory of India and Article 245 Clause (2) says that
no law made by Parliament shall be deemed to be invalid on the ground that it would have
extra-territorial operation.

In light of the above statements, choose the correct answer from the opticns given below

1. Both A and R are true and R is the correct explanation cf A.

2. Both A and R are true but R is NOT the correct explanation of A.
3. A is true but R is false

4. A is false but R is true

Options :

21052930541. 1
21052930542. 2
21052930543. 3
21052930544. 4

Question Number : 136 Question Id : 2105297768 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

1.(
2
3. (
4

21052930541. 1
21052930542. 2
21052930543. 3
21052930544. 4

Question Number : 137 Question Id : 2105297769 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A: According to Article 7 of the United Nations Charter, the International Court of
lustice is one of the principal organs of the United Nations

Reason R: The International Court of Justice consists of 15 judges who are elected by the
Security Council

In light of the above statements, choose the correct answer from the opticns given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

21052930545. 1



21052930546. 2
21052930547. 3

21052930548. 4

Question Number : 137 Question Id : 2105297769 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4. (A) Wel Tel 8 T (R) Tel &

Options :

21052930545. 1
21052930546. 2
21052930547. 3

21052930548. 4

Question Number : 138 Question Id : 2105297770 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A: Whoever assaults or uses criminal force on any person, in attempting to commit
theft on any property which that person is then wearing or carrying, shall be punished with
imprisonment of either description for a term which may extend to two years, or with fine, or
with both

Reason R: Section 356 of Indian Penal Code provides for the punishment of imprisonment of
either description for a term which may extend to two years, or with fine, or with both if a
person assaults or uses criminal force on any person in attempting to commit theft or any
property which that person is then wearing or carrying.

In light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options:

21052930549. 1
21052930550. 2
21052930551. 3

21052930552. 4

Question Number : 138 Question Id : 2105297770 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

21052930549. 1
21052930550. 2
21052930551. 3

21052930552. 4

Question Number : 139 Question Id : 2105297771 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: If the adoption is of a son, the adoptive Hindu father or mother by whom the
adoption is made must not have a Hindu son, son's son or son's son's son (whether by
legitimate blood relationship or by adoption) living at the time of adoption.

Reason R: Section 11 (i) of the Hindu Adoptions and Maintenance Act, 1956, which deals with
the right of adoptive parents ‘under other conditions for a valid adoption’ imposes this

restriction.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options:

21052930553. 1
21052930554. 2
21052930555. 3

21052930556. 4

Question Number : 139 Question Id : 2105297771 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930553. 1
21052930554. 2
21052930555. 3
21052930556. 4

Question Number : 140 Question Id : 2105297772 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Once a performer consents to the incorporation of his performance in a
cinematograph film by a written agreement, he/she will not object to the enjoyment of the
performers' right by the producer in the same film,

Reason R: The performer is entitled to royalties in case the producer of the film makes use of
the performance for commercial use.

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options:

21052930557. 1
21052930558. 2
21052930559. 3

21052930560. 4

Question Number : 140 Question Id : 2105297772 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930557. 1
21052930558. 2
21052930559. 3

21052930560. 4
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Question Shuffling Allowed : Yes
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Read the passage carefully and answer the questions that follow:

The right to live with dignity has been recognized as a human right on the international front
and by the number of precedents of this Court and therefore, the Constitutional courts must
strive to protect the dignity of every individual, for, without the right to dignity, every other
right would be rendered meaningless. Dignity is an inseparable facet of every individual that
invites reciprocative respect from others to every aspect of an individual which he/she
perceives as an essential attribute of his/her individuality, be it an orientation or an optional
expression of choice. The Constitution has ladened the judiciary with the very important duty
to protect and ensure the right of every individual including the right to express and choose
without any impediments so as to enable an individual to fully realize his/her fundamental
right to live with dignity.

Sexual orientation is one of the many biological phenomena which is natural and inherent in
an individual and is controlled by neurological and biological factors. The science of sexuality
has theorized that an individual exerts little or no control over who he/she gets attracted to.
Any discrimination on the basis of one's sexual orientation would entail a violation of the
fundamental right of freedom of expression.

Sub questions

Question Number : 141 Question Id : 2105297774 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The above paragraph reflects the judgement in case of .

1. Navtej Singh Johar v. Union of Indian

2. Machi Singh v. State of Punjab

3. Sate of UP v. Ram Swaroop

4. Chairman Railway Board v. Chandrima Das

Options:

21052930561. 1
21052930562. 2
21052930563. 3

21052930564. 4



Question Number : 142 Question Id : 2105297775 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Discrimination on the basis of sexual orientation is violative of which of the following
fundamental rights?

1. Article 21 only

2. Article 14, 15 only

3. Article 15, 19 only

4, Articles 14, 15, 19, 21

Options :

21052930565. 1
21052930566. 2
21052930567. 3

21052930568. 4

Question Number : 143 Question Id : 2105297776 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The consensual sexual act of an adult is criminalised under which of the following

legislations?

1. Indian Penal Code
2. POCSO
3. Criminal Law(Amendment) Act 2013

Options:

21052930569. 1
21052930570. 2
21052930571.3

21052930572. 4

Question Number : 144 Question Id : 2105297777 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No



Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Which one of the following judges were part of the judgement referred to in the paragraph?

1. ). Deepak Mishra

2. ). R. F. Nariman

3. Dr. D.Y. Chandrachud
4. ). Indu Malhotra

Options :

21052930573. 1
21052930574. 2
21052930575. 3

21052930576. 4

Question Number : 145 Question Id : 2105297778 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The fundamental right of the freedom of expression is contained in the following articles of

the Indian Constitution :

1. Article 19 (1) (a)
I ]

2. Article 19 (1)(f)
3. Article 18(7)
4, Article 21

Options :

21052930577. 1
21052930578. 2
21052930579. 3

21052930580. 4

Question Id : 2105297773 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (141 to 145)

Question Label : Comprehension



P T T T s S S T B ey

HARPIY Hid W 3R 58 Y & 3 GaiaeRul & gRI TR U o & UER 3 1
THATYSR & €U H 917041 &1 775 & AR S SquTHe e @] Udd afed @I TR &1
&1 X P TG AT AT ifes TR g0l ofiad & HUFER & R Tdd 3 HUDR FRYS
Bl SIGT| TTRE Tl o] o1 U SMiqyIod U4 € ol 39 o5l o Wl Uge) b Wid gl ¥
URERE e T 6T B & o 95 Siad 0 i, T8 a8 1S o &l a1 9 Bl
defcum SHfeafed, &1 U Hifed U 9l 6| diaeH o Hfireafd SR Fefy 99 & AfieR
Ylgd Tl it @1 HUSR YRS B AR D! W B &1 g JEUed] B Uil 8
diftr 98 Sfe TREQY Sfiaq &1 S 9ifcd fHR We & G| IH $H 370 dfdd
Hoidt & 4 1@ & o ol ftd & Wiifde AR welie 0 g ¢ ok ol wefe ok
e BReE FaoE & 81 DiHal oy & HUR Bl ik fhgs Uld e s |
3T Sy I T B 81 ol aufea & O ST & SR W o T o off Y
TR @1 Wead] & Hi® SEHR B 5 &I

Sub questions

Question Number : 141 Question Id : 2105297774 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930561. 1
21052930562. 2
21052930563. 3

21052930564. 4

Question Number : 142 Question Id : 2105297775 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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21052930565. 1
21052930566. 2
21052930567. 3
21052930568. 4

Question Number : 143 Question Id : 2105297776 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930569. 1
21052930570. 2
21052930571. 3
21052930572. 4

Question Number : 144 Question Id : 2105297777 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930573. 1
21052930574. 2
21052930575. 3

21052930576. 4

Question Number : 145 Question Id : 2105297778 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930577. 1
21052930578. 2
21052930579. 3
21052930580. 4

Sub-Section Number : 3
Sub-Section Id : 210529294
Question Shuffling Allowed : Yes

Question Id : 2105297779 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No

Question Numbers : (146 to 150)



Question Label : Comprehension

Read the passage below carefully and answer the questions that follow:

The state of Uttar Pradesh and Uttarakhand have not cooperated with the central government
to constitute a Ganga Management Board. The Uttarakhand High Court in the exercise of its
'parens patriae’ jurisdiction, ordered conversation of Ganga and Yamuna rivers as juristic /legal
persons/living entities, having the status of a legal person. The rivers Ganga and Yamuna
are thus legal persons with corresponding rights of a living person. The director NAMAMI
Ganga, the Chief Secretary and Advocate General of Uttarakhand states were declared
as persons in 'loco parentis'

The division bench of Uttarakhand High Court sharply berated the state terming their non-
cooperation as the 'sign of non-governance'. The deterioration of Ganga and Yamuna is a
classic case of 'desperate times, desperate measures’, the court granted the juristic entity at
par with Hindu idol. The Uttarakhand High Court in another case reiterated the constitution of
the Ganga Management Board has become all the more necessary for the purpose of
irrigation, water supply, hydropower generation, and navigation.

Sub questions

Question Number : 146 Question Id : 2105297780 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The term 'Parens Patriae' refers to

1. Common Suit

2. Descent from parent

3. Parent of his / her own country / state
4. Barred by res Judicata

Options :

21052930581. 1
21052930582. 2
21052930583. 3

21052930584. 4

Question Number : 147 Question Id : 2105297781 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The Uttarakhand High Court in another case reiterated 'the constitution...navigation' as quoted
in the paragraph, refers to which one of the following cases?

1. Mohd. Salim v. State of Uttarakhand

2. Yogendra Nath v. Commissioner of Income Tax
3. Ram Jankijee v. State of Bihar

4. M.C. Mehta v. Kamal Nath

Options :

21052930585. 1
21052930586. 2
21052930587. 3

21052930588. 4

Question Number : 148 Question Id : 2105297782 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Hindu Idol is a juristic entity capable of holding property, was laid down in

1. Bengal Immunity Co. Ltd v. State of Bihar

2. Yogendra Math Naskar v. Commissioner of Income tax.
3. K. M. Basheer v. Lona Chakola

4. Nanak Chand v. State of U.P

Options :

21052930589. 1
21052930590. 2
21052930591. 3
21052930592. 4

Question Number : 149 Question Id : 2105297783 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

"The division bench of Uttarakhand High Court sharply berated...non-governance' was
observed in which of the following cases?

1. Indian Council for Enviro-legal Action v. Union of India

2. Rural Litigation & Entitlement Kendra v. State of Uttarakhand
3. Divya Pharmacy v. Union of India

4. Lalit Miglani V. State of Uttarakhand

Options :

21052930593. 1
21052930594. 2
21052930595. 3
21052930596. 4

Question Number : 150 Question Id : 2105297784 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The term 'loco parentis’ refers to :

1. In equal fault

2. In place of parent
3. Hizanat period

4. Indigent suit

Options :

21052930597. 1
21052930598. 2
21052930599. 3

21052930600. 4

Question Id : 2105297779 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (146 to 150)

Question Label : Comprehension
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Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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21052930581. 1
21052930582. 2
21052930583. 3

21052930584. 4
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Correct Marks : 2 Wrong Marks : 0
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Options :

21052930585. 1
21052930586. 2
21052930587. 3

21052930588. 4
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Correct Marks : 2 Wrong Marks : 0

= Wi U 1 ied ¢ o §uid 41ial 9 96 2, 98 Rufoiad 4 ¥ feed et
ICRIRIIE

2. RTg 1Y AT G HGHT HH
3. &, TH, 92IR S aFT 9aia
4 THS 95 89 ITUGY T™

Options :

21052930589. 1
21052930590. 2
21052930591. 3
21052930592. 4

Question Number : 149 Question Id : 2105297783 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052930593. 1
21052930594. 2
21052930595. 3
21052930596. 4
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Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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